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IMPORTANT INSTRUCTIONS
1. This Question Booklet contains questions of GENERAL STUDIES and SOCIAL SCIENCE which

includes HISTORY, GEOGRAPHY, ECONOMICS and POLITICAL SCIENCE subjects. Choose the
questions from any two subjects out of four subjects of SOCIAL SCIENCE. At least one subject
HISTORY or GEOGRAPHY is mandatory.

2. Part–I, GENERAL STUDIES consists of Question Nos. 1 to 40, Part–II, HISTORY consists of
Question Nos. H–1 to H–40, Part–II/Part–III, GEOGRAPHY consists of Question Nos. G–1 to
G–40, Part–III, ECONOMICS consists of Question Nos. E–1 to E–40 and Part–III, POLITICAL
SCIENCE consists of Question Nos. P–1 to P–40. All questions and their responses are printed in
English as well as in Hindi versions.

3. All questions carry equal marks.
4. Attempt questions from GENERAL STUDES and two subjects out of four subjects of SOCIAL

SCIENCE. At least one subject HISTORY or GEOGRAPHY is mandatory.
5. Immediately after commencement of the examination, you should check up your Question

Booklet and ensure that the Question Booklet Series is printed on the top right-hand corner
of the Booklet. Please check that the Booklet contains 64 printed pages including two pages
(Page Nos. 62 and 63) for Rough Work and no page or question is missing or unprinted or
torn or repeated. If you find any defect in this Booklet, get it replaced immediately by a
complete Booklet of the same series.

6. You must write your Roll Number in the space provided on the top of this page. Do not write
anything else on the Question Booklet.

7. An Answer Sheet will be supplied to you separately by the Invigilator to mark the answers. You
must write your Name, Roll No., Question Booklet Series and other particulars in the space
provided on Page–1 of the Answer Sheet provided, failing which your Answer Sheet will not
be evaluated.

8. You should encode your Roll Number and the Question Booklet Series A, B, C or D as it is
printed on the top right-hand corner of the Question Booklet with Black/Blue ink ballpoint pen in
the space provided on Page–2 of your Answer Sheet. If you do not encode or fail to encode the
correct series of your Question Booklet, your Answer Sheet will not be evaluated correctly.

9. Each question comprises of five responses—(A), (B), (C), (D) and (E). You are to select ONLY ONE
correct response and mark it in your Answer Sheet. In any case, choose ONLY ONE response for
each question. Your total marks will depend on the number of correct responses marked by you in
the Answer Sheet.

10. In the Answer Sheet, there are five circles— and against each question. To
answer the questions, you are to mark with Black/Blue ink ballpoint pen ONLY ONE circle of your
choice for each question. Select only one response for each question and mark it in your Answer
Sheet. If you mark more than one answer for one question, the answer will be treated as wrong.
Use Black/Blue ink ballpoint pen only to mark the answer in the Answer Sheet. Any erasure
or change is not allowed.

11. For each question for which a wrong answer has been given by the candidates, one-fourth of the
marks assigned to the question will be deducted as penalty.

12. You should not remove or tear off any sheet from the Question Booklet. You are not allowed to
take this Question Booklet and the Answer Sheet out of the Examination Hall during the
examination. After the examination has concluded, you must hand over your Answer Sheet
to the Invigilator. Thereafter, you are permitted to take away the Question Booklet with you.

13. Failure to comply with any of the above instructions will render you liable to such action or
penalty as the Commission may decide at their discretion.

14. Candidates must assure before leaving the Examination Hall that their Answer Sheets will be kept
in Self Adhesive LDPE Bag and completely packed/sealed in their presence.
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PART—I

( GENERAL STUDIES )

1. 10 years ago the ratio of ages

of Ramesh and Rajeev was 1 : 3.

5 years hence this ratio will

become 2 : 3. What is the ratio

of their ages at present?

(A) 2 : 5

(B) 3 : 5

(C) 1 : 2

(D) More than one of the above

(E) None of the above

2. If I walk with a speed of 5 km

per hour from my house to the

station, my train would have left

the station 7 minutes before my

arrival. But, if I walk with a

speed of 6 km per hour, I will

reach the station 5 minutes

before the departure of my

train. Accordingly, what is the

distance between my house and

the station?

(A) 7 km

(B) 6·5 km

(C) 6 km

(D) More than one of the above

(E) None of the above

3. The average monthly income of

P and Q is R 5,050. The average

monthly income of Q and R is

R 6,250 and the average

monthly income of P and R is

R 5,200. The monthly income of

P is

(A) R 3,500

(B) R 4,050

(C) R 4,000

(D) More than one of the above

(E) None of the above

4. If 30% of P is added to 40%

of Q , it becomes 80% of Q .

Accordingly, what is the

percentage of Q with respect

to P?

(A) 40%

(B) 50%

(C) 75%

(D) More than one of the above

(E) None of the above

5. A sum of money is to be

distributed among A, B , C , D in

the proportion of 5 : 2 : 4 : 3. If

C gets R 1,000 more than D,

what is B ’s share?

(A) R 500

(B) R 1,500

(C) R 2,000

(D) More than one of the above

(E) None of the above
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PART—I

( GENERAL STUDIES )

1. 10 df© nyd© a_oe Edß amOrd H$s Am`w H$m

AZwnmV 1 : 3 Wmü& A~ go 5 df© nÌMmV≤ `h

AZwnmV 2 : 3 hmo Om`oJmü& dV©_mZ _| CZH$s

Am`w H$m AZwnmV ä`m h°?

(A) 2 : 5

(B) 3 : 5

(C) 1 : 2

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

2. `{X _¢ AnZo Ka go 5 {H$0 _r0 ‡{V KßQ>m H$s

J{V go ÒQ>oeZ Ho$ {bE MbVm hˇ±, Vmo _oar JmãS>r

_oao ÒQ>oeZ nh˛±MZo go 7 {_ZQ> nhbo Ny>Q> MwH$s

hmoVr h°ü& {H$›Vw `{X _¢ 6 {H$0 _r0 ‡{V KßQ>m

H$s J{V go MbVm hˇ±, Vmo _¢ ÒQ>oeZ na JmãS>r Ho$

Ny>Q>Zo go 5 {_ZQ> nhbo nh˛±M OmVm hˇ±ü&

VXZwgma, _oao Ka Am°a ÒQ>oeZ Ho$ ~rM H$s Xyar

ä`m h°?

(A) 7 {H$0 _r0

(B) 6·5 {H$0 _r0

(C) 6 {H$0 _r0

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

3. P Am°a Q H$s Am°gV _m{gH$ Am`

R 5,050 h°ü& Q Am°a R H$s Am°gV _m{gH$

Am` R 6,250 h° VWm P Am°a R H$s Am°gV

_m{gH$ Am` R 5,200 h°ü& P H$s _m{gH$

Am` h°

(A) R 3,500

(B) R 4,050

(C) R 4,000

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

4. `{X P H$m 30%, Q Ho$ 40% _| OmoãS> {X`m

Om`, Vmo dh Q H$m 80% hmo OmVm h°ü&

VXZwgma Q , P H$m {H$VZm ‡{VeV h°?

(A) 40%

(B) 50%

(C) 75%

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

5. A, B , C , D Ho$ ~rM 5 : 2 : 4 : 3 Ho$

AZwnmV _| YZ H$m {dVaU {H$`m OmZm h°ü& `{X

C H$mo D go R 1,000 A{YH$ {_bVo h¢, Vmo

B H$m {hÒgm ä`m h°?

(A) R 500

(B) R 1,500

(C) R 2,000

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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6. A shopkeeper gives a discount

of 5% on the selling price of a

watch. If he gives a discount of

6%, he will earn a profit which

is R 15 less than the before.

Accordingly, what is the marked

selling price of that watch?

(A) R 1,400

(B) R 1,500

(C) R 1,800

(D) More than one of the above

(E) None of the above

7. Three numbers are in the ratio

3 : 4 : 5. The total of the largest

and the smallest numbers is

equal to the other number

plus 52. Accordingly, which is

the smallest number?

(A) 27

(B) 39

(C) 52

(D) More than one of the above

(E) None of the above

8. If 2
1

8

2 1

3

n
n

-

-

= , then the value

of n is

(A) 3

(B) 2

(C) – 2

(D) More than one of the above

(E) None of the above

9. Which of the following photo-

electric devices is the most

suitable for digital applications?

(A) Photo-voltaic cell

(B) Photo-emissive cell

(C) Photo-diode

(D) More than one of the above

(E) None of the above

10. The critical mass of a fissionable

material is

(A) one kilogram equivalent

(B) the minimum mass needed

for chain reaction

(C) the rest mass equivalent to

1010 joules

(D) More than one of the above

(E) None of the above

11. Which of the following gases is

used to force the ripening of

fruits?

(A) Ethane

(B) Ethylene

(C) Methylene

(D) More than one of the above

(E) None of the above

12. Which one of the following has

zero octane number?

(A) Iso-octane

(B) Neo-octane

(C) n-octane

(D) More than one of the above

(E) None of the above
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6. EH$ XwH$mZXma EH$ KãS>r ~oMVo g_` {~H´$s _yÎ`

na 5% Ny>Q> XoVm h°ü& `{X dh Cg na 6%

Ny>Q> Xo XoVm h°, Vmo Cgo nhbo go R 15 H$_ H$m

bm^ {_boJmü& VXZwgma, Cg KãS>r H$m Aß{H$V

{~H´$s _yÎ` ä`m h°?

(A) R 1,400

(B) R 1,500

(C) R 1,800

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

7. VrZ gßª`mE± 3 : 4 : 5 Ho$ AZwnmV _| h¢ü&

CZ_| g~go ~ãS>r Edß g~go N>moQ>r gßª`mAm| H$m

`moJ, Xygar gßª`m VWm 52 Ho$ `moJ Ho$ ~am~a

h°ü& VXZwgma, g~go N>moQ>r gßª`m H$m°Z-gr h°?

(A) 27

(B) 39

(C) 52

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

8. `{X 2
1

8

2 1

3

n
n

-

-

= , Vmo n H$m _mZ h°

(A) 3

(B) 2

(C) – 2

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

9. {ZÂZ{b{IV _| go H$m°Z-gm \$moQ>mo-BbopäQ¥>H$

CnH$aU {S>{OQ>b AZw‡`moJm| Ho$ {bE g~go

Cn`w∫$ h°?

(A) \$moQ>mo-dmopÎQ>H$ gob

(B) \$moQ>mo-CÀgO©H$ gob

(C) \$moQ>mo-S>m`moS>

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

10. {H$gr {dI�S>Zr` –Ï` H$m H´$mp›VH$ –Ï`_mZ

hmoJm

(A) EH$ {H$bmoJ´m_ g_VwÎ`

(B) ˚mß•Ibm A{^{H´$`m hoVw AmdÌ`H$ ›`yZV_

–Ï`_mZ

(C) 1010 Oyb Ho$ g_VwÎ` {dam_ –Ï`_mZ

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

11. \$bm| H$mo O~aXÒVr nH$mZo Ho$ {bE {ZÂZ{b{IV

_| go {H$g J°g H$m Cn`moJ {H$`m OmVm h°?

(A) B©WoZ

(B) E{WbrZ

(C) _o{WbrZ

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

12. {ZÂZ{b{IV _| go {H$gH$s Am∞äQ>oZ gßª`m

ey›` h°?

(A) AmBgmo-Am∞äQ>oZ

(B) {ZAmo-Am∞äQ>oZ

(C) n-Am∞äQ>oZ

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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13. The edible part of Litchis is

(A) aril

(B) thalamus

(C) seed coat

(D) More than one of the above

(E) None of the above

14. The physical process involved in

the release of molecular oxygen

from leaves is

(A) diffusion

(B) transpiration

(C) osmosis

(D) More than one of the above

(E) None of the above

15. The process of finding the

relative location of genes on a

chromosome is called

(A) genome walking

(B) chromosome walking

(C) gene mapping

(D) More than one of the above

(E) None of the above

16. Spore mother cell in bryophytes

is

(A) haploid

(B) diploid

(C) triploid

(D) More than one of the above

(E) None of the above

17. In which year was NGT (National

Green Tribunal) for protection

of environment and forest

established by the Government

of India?

(A) 2010

(B) 2011

(C) 2012

(D) More than one of the above

(E) None of the above

18. Which city of India started first

under-water metro?

(A) Kochi

(B) Visakhapatnam

(C) Bengaluru

(D) More than one of the above

(E) None of the above

19. Under India’s G20 Presidency,

where was the Tourism Working

Group Meeting held?

(A) Patna (Bihar)

(B) Srinagar (Jammu and

Kashmir)

(C) Ramnagar (Uttarakhand)

(D) More than one of the above

(E) None of the above

20. Who among the following got

the Silver Medal in the National

Under-17 Girls Wrestling

Championship?

(A) Liza Tomar

(B) Nirjala

(C) Pushpa Yadav

(D) More than one of the above

(E) None of the above

17/MV/M–2023–01–10 (S)/12-A 6

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


17/MV/M–2023–01–10 (S)/12-A 7 [ P.T.O.

13. brMr H$m Im⁄ ^mJ h°

(A) E[ab

(B) W°bo_g

(C) ~rO H$moQ>

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

14. AmU{dH$ Am∞ägrOZ H$m n{Œm`m| go {ZH$bZm

H$m°Z-gr ^m°{VH$ {H´$`m h°?

(A) {dgaU

(B) dmÓnmoÀgO©Z

(C) namgaU

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

15. {H$gr JwUgyÃ na OrZm| H$s Amno{jH$ pÒW{V

kmV H$aZo H$s ‡{H´$`m H$hbmVr h°

(A) OrZmo_ H$m MbZm

(B) JwUgyÃ H$m MbZm

(C) OrZ _mZ{MÃU

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

16. ~´m`mo\$mBQ> _| ~rOmUw _mV• H$mo{eH$m hmoVr h°

(A) AJw{UV

(B) {¤Jw{UV

(C) {ÃJw{UV

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

17. ^maV gaH$ma ¤mam n`m©daU Am°a dZ H$s gwajm

Ho$ {bE {H$g df© NGT (Z°eZb J´rZ

{Q¥>„`yZb) H$s ÒWmnZm H$s JB© Wr?

(A) 2010

(B) 2011

(C) 2012

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

18. ^maV Ho$ {H$g eha Zo g~go nhbo nmZr Ho$

ZrMo _oQ¥>mo H$s ewÈAmV H$s?

(A) H$mo{É

(B) {demImnŒmZ_

(C) ~|JbwÈ

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

19. ^maV H$s G20 A‹`jVm _| n`©Q>Z H$m`©g_yh

H$s ~°R>H$ H$hm± h˛B© Wr?

(A) nQ>Zm ({~hma)

(B) lrZJa (OÂ_y Am°a H$Ì_ra)

(C) am_ZJa (CŒmamIßS>)

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

20. BZ_| go {H$gZo amÔ¥>r` AßS>a-17 ~m{bH$m

Hw$ÌVr M°Ânr`Z{en _| aOV nXH$ ‡m· {H$`m?

(A) brµOm Vmo_a

(B) {ZO©bm

(C) nwÓnm `mXd

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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21. Who won the International

Booker Prize, 2022 for the novel,

Tomb of Sand ?

(A) Geetanjali Shree and Daisy

Rockwell

(B) David Diop and Anna

Moschovakis

(C) Marilyn Booth and Jokha

Alharthi

(D) More than one of the above

(E) None of the above

22. Who was the Chief Guest on

India’s 74th Republic Day?

(A) Mohammed bin Salman

(B) Abdel Fattah El-Sisi

(C) Sheikh Mohammed bin

Rashid Al Maktoum

(D) More than one of the above

(E) None of the above

23. In which district of Bihar, the

first floating solar power plant

has been built?

(A) Darbhanga

(B) West Champaran

(C) Madhubani

(D) More than one of the above

(E) None of the above

24. Which of the following has got

GI Tag in Bihar?

(A) Maghai Paan

(B) Basmati Rice

(C) Chanderi Saree

(D) More than one of the above

(E) None of the above

25. Match List–I with List–II :

List—I List—II

a. Char 1. Punjab plain

b. Kankar 2. Delta

c. Kayal 3. Bangar

d. Mand 4. Coastal plain

Select the correct answer using

the codes given below.

(A) a b c d

1 4 2 3

(B) a b c d

2 3 4 1

(C) a b c d

3 1 4 2

(D) More than one of the above

(E) None of the above

26. Which of the following

tributaries does not join

Brahmaputra river from north?

(A) Subansiri

(B) Belsiri

(C) Manas

(D) More than one of the above

(E) None of the above
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21. Cn›`mg Q>m∞Â~ Am∞\$ g¢S> Ho$ {bE A›Vam©Ô¥>r`

~wH$a nwaÒH$ma, 2022 {H$gZo OrVm?

(A) JrVmßO{b lr Am°a S>oµOr am∞H$dob

(B) S>o{dS> {S>Amon Am°a Afim _moÒH$modm{H$g

(C) _°ar{bZ ~yW Am°a OmoIm AÎhmWu

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

22. ^maV Ho$ 74d| JUVßÃ {Xdg na H$m°Z _wª`

A{V{W Wo?

(A) _mohÂ_X {~Z gb_mZ

(B) A„Xob \$Vh Ab-{ggr

(C) eoI _mohÂ_X {~Z am{eX Ab _H$Vy_

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

23. {~hma Ho$ {H$g {µObo _| ‡W_ V°aVm h˛Am gmoba

D$Om© gß`ßÃ ~Zm`m J`m h°?

(A) Xa^ßJm

(B) npÌM_ MÂnmaU

(C) _Yw~Zr

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

24. {~hma _| {ZÂZ{b{IV _| go {H$go GI Q>°J

{_bm h°?

(A) _Jhr nmZ

(B) ~mg_Vr Mmdb

(C) MßXoar gmãS>r

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

25. gyMr-I H$mo gyMr-II go gw_o{bV H$s{OE :

gyMr–I gyMr–II

a. Mma 1. nßOm~ H$m _°XmZ

b. Hß$H$a 2. S>oÎQ>m

c. H$m`b 3. ~mßJa

d. _mßS> 4. VQ>r` _°XmZ

ZrMo {XE JE Hy$Q> H$m ‡`moJ H$a ghr CŒma

Mw{ZEü&

(A) a b c d

1 4 2 3

(B) a b c d

2 3 4 1

(C) a b c d

3 1 4 2

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

26. {ZÂZ{b{IV _| go H$m°Z-gr ghm`H$ ZXr

~´˜nwÃ go CŒma {Xem go Zht {_bVr h°?

(A) gw~Z{gar

(B) ~ob{gar

(C) _mZg

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

https://applink.adda247.com/d/XhqWf9lSap
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27. Likhapani glacier is located in

which State of India?

(A) Arunachal Pradesh

(B) Himachal Pradesh

(C) Sikkim

(D) More than one of the above

(E) None of the above

28. Magadha and Anga plains are

parts of

(A) upper Ganga plain

(B) middle Ganga plain

(C) lower Ganga plain

(D) More than one of the above

(E) None of the above

29. Which of the following pairs of

waterfalls and rivers is not

correctly matched?

(A) Jog—Sharavati

(B) Kapildhara—Kaveri

(C) Dhuandhar—Godavari

(D) More than one of the above

(E) None of the above

30. Arrange the following seaports of

India from north to south :

1. Kakinada

2. Machilipatnam

3. Nagapattinam

4. Visakhapatnam

Select the correct answer using

the codes given below.

(A) 1, 2, 3, 4

(B) 4, 1, 2, 3

(C) 1, 3, 2, 4

(D) More than one of the above

(E) None of the above

31. The Agreement of Kosi Irrigation

and Hydroelectricity Plan in

1954 was signed between which

two countries?

(A) India and Bangladesh

(B) India and China

(C) India and Nepal

(D) More than one of the above

(E) None of the above

32. In which climatic division does

Bihar fall as per R. L. Singh’s

classification scheme?

(A) Humid south-east

(B) Subhumid transitional

(C) Subhumid continental

(D) More than one of the above

(E) None of the above

https://applink.adda247.com/d/XhqWf9lSap
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27. {bImnmZr {h_ZX ^maV Ho$ {ZÂZ{b{IV _| go

{H$g am¡` _| pÒWV h°?

(A) AÈUmMb ‡Xoe

(B) {h_mMb ‡Xoe

(C) {g{∏$_

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

28. _JY Edß AßJ H$m _°XmZ {H$gHo$ {hÒgo h¢?

(A) D$nar JßJm H$m _°XmZ

(B) _‹` JßJm H$m _°XmZ

(C) {ZÂZ JßJm H$m _°XmZ

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

29. Ob‡nmV Am°a ZXr Ho$ {ZÂZ{b{IV OmoãS>m| _| go

H$m°Z-gm OmoãS>m ghr gw_o{bV Zht h°?

(A) OmoJ—eamdVr

(B) H${nbYmam—H$mdoar

(C) YwAm±Yma—JmoXmdar

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

30. ^maV Ho$ {ZÂZ{b{IV ~ßXaJmhm| H$mo CŒma go

X{jU {Xem _| Ï`dpÒWV H$s{OE :

1. H$mH$sZmãS>m

2. _N>brn≈>Z_

3. ZmJn{≈>Z_

4. {demImnŒmZ_

ZrMo {XE JE Hy$Q> H$m ‡`moJ H$a ghr CŒma

Mw{ZEü&

(A) 1, 2, 3, 4

(B) 4, 1, 2, 3

(C) 1, 3, 2, 4

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

31. 1954 _| {H$Z Xmo Xoem| Ho$ ~rM H$mogr qgMmB©

Edß Ob{d⁄wV≤ n[a`moOZm g_Pm°Vm hÒVmj[aV

h˛Am Wm?

(A) ^maVdf© Am°a ~mßΩbmXoe

(B) ^maVdf© Am°a MrZ

(C) ^maVdf© Am°a Zonmb

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

32. Ama0 Eb0 qgh Ho$ dJuH$aU ÒH$s_ Ho$

AZwgma, {~hma {H$g ‡H$ma Ho$ Obdm`w ‡Xoe

_| AmVm h°?

(A) Am–© X{jU-nyd©

(B) Cnm–© gßH´$_UH$mbrZ

(C) Cnm–© _hm¤rnr`

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

https://applink.adda247.com/d/XhqWf9lSap
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33. In which Session of the Indian

National Congress was the

resolution of ‘Purna Swaraj’

adopted?

(A) Kanpur Session, 1925

(B) Lahore Session, 1929

(C) Karachi Session, 1931

(D) More than one of the above

(E) None of the above

34. What was an initial objective of

‘Kuka Movement’ in Punjab?

(A) To purify the Sikh religion

(B) To gain political power in

Punjab

(C) Organization of peasant

movement

(D) More than one of the above

(E) None of the above

35. Who described the Revolt of

1857 as the ‘First Indian War of

Independence’?

(A) V. D. Savarkar

(B) Bal Gangadhar Tilak

(C) Bipin Chandra Pal

(D) More than one of the above

(E) None of the above

36. Where was the first instance of

organized non-cooperation in

the history of Indian peasantry

held?

(A) Bihar and Bengal

(B) Madras Presidency

(C) Punjab Province

(D) More than one of the above

(E) None of the above

37. Which portfolio did Dr. Rajendra

Prasad hold during the Interim

Government of 1946?

(A) Defence

(B) Home

(C) Food and Agriculture

(D) More than one of the above

(E) None of the above

38. Who among the following

particularly urged Gandhiji to

visit Champaran to witness the

miseries of the Ryots?

(A) Brijkishore Prasad

(B) Rajkumar Shukla

(C) Sukhram Ganesh

(D) More than one of the above

(E) None of the above

39. The ‘Day of Deliverance’ was

observed by the Muslim League

on which date?

(A) 22nd December, 1939

(B) 17th October, 1939

(C) 22nd December, 1940

(D) More than one of the above

(E) None of the above

40. Who laid the foundation stone

of National College and Bihar

Vidyapeeth?

(A) Dr. Rajendra Prasad

(B) Maulana Abdul Bari

(C) Mahatma Gandhi

(D) More than one of the above

(E) None of the above
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33. ^maVr` amÔ¥>r` H$mßJ´og Ho$ {H$g A{YdoeZ _|

"nyU© ÒdamO' H$m {g’m›V J•hrV h˛Am Wm?

(A) H$mZnwa A{YdoeZ, 1925

(B) bmhm°a A{YdoeZ, 1929

(C) H$amMr A{YdoeZ, 1931

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

34. nßOm~ _| "Hy$H$m Am›XmobZ' H$m ‡mapÂ^H$ C‘oÌ`

ä`m Wm?

(A) {gäI Y_© H$mo n[aÓH•$V H$aZm

(B) nßOm~ _| amOZr{VH$ e{∫$ ‡m· H$aZm

(C) H•$fH$ Am›XmobZ H$m gßJR>Z

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

35. 1857 Ho$ {d–moh H$mo {H$gHo$ ¤mam "‡W_

^maVr` ÒdVßÃVm gßJ´m_' Ho$ Í$n _| d{U©V

{H$`m J`m Wm?

(A) dr0 S>r0 gmdaH$a

(B) ~mb JßJmYa {VbH$

(C) {~{nZ M›– nmb

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

36. ^maVr` {H$gmZm| Ho$ B{Vhmg _| gßJ{R>V

Agh`moJ H$m ‡W_ CXmhaU H$hm± K{Q>V h˛Am

Wm?

(A) {~hma Am°a ~ßJmb

(B) _–mg ‡ogrS>|gr

(C) nßOm~ ‡m∞{d›g

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

37. df© 1946 _| ~Zr A›V[a_ gaH$ma _|

S>m∞0 amOo›– ‡gmX Ho$ nmg H$m°Z-gm {d^mJ

Wm?

(A) ajm

(B) J•h

(C) Im⁄ Edß H•${f

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

38. Jm±YrOr H$mo {deof Í$n go MÂnmaU AmZo Am°a

dhm± Ho$ H•$fH$m| H$s X`Zr` pÒW{V H$mo XoIZo hoVw

{H$gZo AZwJ´h {H$`m Wm?

(A) ~•O{H$emoa ‡gmX

(B) amOHw$_ma ewäb

(C) gwIam_ JUoe

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

39. _wpÒb_ brJ ¤mam {H$g {V{W H$mo "_w{∫$ {Xdg'

_Zm`m J`m Wm?

(A) 22 {XgÂ~a, 1939

(B) 17 A∫y$~a, 1939

(C) 22 {XgÂ~a, 1940

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

40. Z°eZb H$m∞boO Am°a {~hma {d⁄mnrR> H$m

{ebm›`mg {H$gZo {H$`m Wm?

(A) S>m∞0 amOo›– ‡gmX

(B) _m°bmZm A„Xwb ~mar

(C) _hmÀ_m Jm±Yr

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

https://applink.adda247.com/d/XhqWf9lSap
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( HISTORY )

H-1. Name the major city of the

Indus Valley Civilization that

had trade relations with West

Asia.

(A) Ropar

(B) Sanghol

(C) Kalibangan

(D) More than one of the above

(E) None of the above

H-2. Of which metal was the

dancing girl in Mohenjo-daro

made?

(A) Copper

(B) Brass

(C) Bronze

(D) More than one of the above

(E) None of the above

H-3. In the Indus Valley Civilization,

which animal worship has been

found?

(A) Humped bull

(B) Horse

(C) Cow

(D) More than one of the above

(E) None of the above

H-4. How many Suktas are there in

Rigveda ?

(A) 1020

(B) 1017

(C) 1080

(D) More than one of the above

(E) None of the above

H-5. Who wrote Kiratarjuniya?

(A) Bhatti

(B) Shudraka

(C) Kalidasa

(D) More than one of the above

(E) None of the above

H-6. ‘Pur’ in Vedic period means

(A) forts

(B) trade

(C) market

(D) More than one of the above

(E) None of the above
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PART—II

( HISTORY )

H-1. qgYw KmQ>r g‰`Vm Ho$ ‡_wI ZJa H$m Zm_

ä`m h° {OgH$m npÌM_r E{e`m go Ï`mnm[aH$

gÂ~›Y Wm?

(A) amonãS>

(B) gßKmob

(C) H$mbr~ßJm (H$mbr~ßJZ)

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

H-2. _mohZOmoXãS>mo go ‡m· ZV©H$s H$s _y{V© {H$g

YmVw go ~Zr Wr?

(A) Vm±~m

(B) nrVb

(C) H$m±Ò`

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

H-3. qgYw KmQ>r g‰`Vm _| {H$g OmZda H$s nyOm

Ho$ ‡_mU {_bo hß°?

(A) Hy$~ãS>Xma ~°b

(B) KmoãS>m

(C) Jm`

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

H-4. F$ΩdoX _| {H$VZo gy∫$m| H$m gßH$bZ h°?

(A) 1020

(B) 1017

(C) 1080

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

H-5. {H$amVmO©wZr` {H$gZo {bIm Wm?

(A) ^{≈>

(B) ey–H$

(C) H$m{bXmg

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

H-6. d°{XH$ H$mb _| ‡`w∫$ "nwa' H$m AW© h°

(A) XwJ©

(B) Ï`mnma

(C) ~mOma

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


H-7. What is called ‘Takshan’ in

Rigveda ?

(A) Carpenter

(B) Ironsmith

(C) Potter

(D) More than one of the above

(E) None of the above

H-8. Of which metal was the

‘Kakani’ coins made in

Mauryan period?

(A) Copper

(B) Iron

(C) Silver

(D) More than one of the above

(E) None of the above

H-9. By whom was the world’s

first Republic established in

Vaishali?

(A) Maurya

(B) Nanda

(C) Gupta

(D) More than one of the above

(E) None of the above

H-10. Into how many major chapters

is Kautilya’s Arthashastra

divided?

(A) 11

(B) 12

(C) 14

(D) More than one of the above

(E) None of the above

H-11. Whom did Iltutmish appoint as

his first Governor in Bihar?

(A) Aivaz

(B) Nasiruddin Mahmud

(C) Ali Mardan

(D) More than one of the above

(E) None of the above

H-12. Where was the field area of

Birsa Munda?

(A) Champaran

(B) Ranchi

(C) Ballia

(D) More than one of the above

(E) None of the above
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H-7. F$ΩdoX _| "VjZ' {H$go H$hVo Wo?

(A) ~ãT>B©

(B) bmohma

(C) Hw$Âhma

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

H-8. _m°`©H$mbrZ "H$mH$Ur' {H$g YmVw Ho$ ~Zo {g∏o$

Wo?

(A) Vm±~m

(B) bmohm

(C) Mm±Xr

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

H-9. {dÌd H$m nhbm JUVßÃ d°embr _| {H$gHo$

¤mam ÒWm{nV {H$`m J`m?

(A) _m°`©

(B) ZßX

(C) Jw·

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

H-10. H$m°{Q>Î` H$m AW©emÛ {H$VZo A{YH$aUm| _|

{d^m{OV h°?

(A) 11

(B) 12

(C) 14

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

H-11. BÎVwV{_e Zo {~hma _| AnZm ‡W_ gy~oXma

{H$go {Z`w∫$ {H$`m Wm?

(A) EodmO

(B) Z{gÈ‘rZ _h_yX

(C) Abr_X©Z

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

H-12. {~agm _w�S>m H$m H$m`©joÃ H$m°Z-gm Wm?

(A) MÂnmaU

(B) am±Mr

(C) ~{b`m

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

https://applink.adda247.com/d/XhqWf9lSap
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H-13. Who was the leader of the

Revolt of 1857 from Bihar?

(A) Maulvi Ahmadullah

(B) Tantia Topi

(C) Nana Sahib

(D) More than one of the above

(E) None of the above

H-14. Name the first capital of

Magadha.

(A) Pataliputra

(B) Vaishali

(C) Girivraja (Rajagriha)

(D) More than one of the above

(E) None of the above

H-15. Which of the following

sources mentions about the

administration of Pataliputra?

(A) Divyavadana

(B) Arthashastra

(C) Indica

(D) More than one of the above

(E) None of the above

H-16. In Mughal administration,

‘Madad-i-Maash’ was related

with

(A) octroi tax

(B) revenue-free land to the

intellectuals

(C) pension to military officers

(D) More than one of the above

(E) None of the above

H-17. What was the objective of Puna

Agreement?

(A) Hindu-Muslim unity

(B) Representation of Dalit

class

(C) Special rights to kings

(D) More than one of the above

(E) None of the above

H-18. Who constructed ‘Jantar

Mantar’?

(A) Akbar

(B) Shah Jahan

(C) Shivaji

(D) More than one of the above

(E) None of the above
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H-13. 1857 H$s H´$mß{V Ho$ {~hma Ho$ ZoVm Wo

(A) _m°bdr Ah_XwÑmh

(B) Vm±À`m Q>mono

(C) ZmZm gm{h~

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

H-14. _JY H$s ‡W_ amOYmZr H$m°Z-gr Wr?

(A) nmQ>{bnwÃ

(B) d°embr

(C) {J[ad´O (amOJ•h)

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

H-15. Cg ÚmoV H$m Zm_ ~VmBE, {Og_| nmQ>{bnwÃ

Ho$ ‡emgZ H$m dU©Z Cnb„Y h°ü&

(A) {XÏ`mXmZ

(B) AW©emÛ

(C) Bp�S>H$m

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

H-16. "_XX-E-_me' _wJb ‡emgZ _| {H$ggo

gÂ~p›YV Wm?

(A) MwßJr H$a

(B) {d¤mZm| H$mo Xr OmZo dmbr amOÒd-_w∫$

^y{_

(C) g°›` A{YH$m[a`m| H$mo Xr OmZo dmbr

n|eZ

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

H-17. nyZm g_Pm°Vo H$m C‘oÌ` Wm

(A) qhXy-_wpÒb_ EH$Vm

(B) X{bV dJ© H$m ‡{V{Z{YÀd

(C) amOmAm| H$mo {deofm{YH$ma XoZm

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

H-18. "OßVa-_ßVa' H$m {Z_m©U {H$gZo {H$`m Wm?

(A) AH$~a

(B) emhOhm±

(C) {edmOr

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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H-19. Who wrote Vande Mataram?

(A) Bankim Chandra

Chatterjee

(B) Sarojini Naidu

(C) Rabindranath Tagore

(D) More than one of the above

(E) None of the above

H-20. Christopher Columbus, the

great explorer who discovered

America in 1492, was financed

by which of the following

countries?

(A) Portugal

(B) England

(C) Spain

(D) More than one of the above

(E) None of the above

H-21. The ‘Boston Tea Party’, an

important event of history, is

associated with the

(A) American War of

Independence

(B) French Revolution

(C) Russian Revolution

(D) More than one of the above

(E) None of the above

H-22. Why is 4th July, 1776

considered to be important in

the history of the USA?

(A) George Washington was

elected as the President

(B) Abolition of Slavery

(C) Declaration of American

Independence

(D) More than one of the above

(E) None of the above

H-23. The ruler of France at the time

of the French Revolution was

(A) Louis XVI

(B) Louis XIV

(C) Louis XIII

(D) More than one of the above

(E) None of the above

H-24. During the Industrial

Revolution, the cotton textile

sector was revolutionized by

‘Spinning Jenny’ which was

invented by

(A) John Kay

(B) Samuel Crompton

(C) James Hargreaves

(D) More than one of the above

(E) None of the above
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H-19. dßXo _mVa_≤ Ho$ aMZmH$ma Wo

(A) ~ß{H$_M›– MQ>Ou

(B) gamo{OZr Zm`Sy>

(C) adr›–ZmW Q>°Jmoa

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

H-20. {H´$ÒQ>mo\$a H$mobÂ~g, 1492 _| A_arH$m H$m

_hmZ ImoOH$Vm©, {H$g Xoe ¤mam {dŒmnmo{fV

{H$`m J`m Wm?

(A) nwV©Jmb

(B) BßΩb°�S>

(C) ÒnoZ

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

H-21. "~moÒQ>Z Q>r nmQ>u', B{Vhmg H$s EH$ _hŒdnyU©

KQ>Zm, {H$ggo gÂ~p›YV h°?

(A) A_arH$m H$m ÒdVßÃVm gßJ´m_

(B) \´$mßgrgr H´$mß{V

(C) Í$gr H´$mß{V

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

H-22. A_arH$m Ho$ B{Vhmg _| 4 OwbmB©, 1776

ä`m| _hŒdnyU© _mZr OmVr h°?

(A) Om∞O© dm∞qeJQ>Z H$m amÔ¥>n{V Ho$ Í$n _|

MwZmd

(B) Xmg‡Wm H$m C›_ybZ

(C) A_arH$s ÒdVßÃVm H$s KmofUm

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

H-23. \´$mßgrgr H´$mß{V Ho$ g_` \´$mßg H$m emgH$ Wm

(A) bwB© gmobhdm±

(B) bwB© Mm°Xhdm±

(C) bwB© Voahdm±

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

H-24. Am°⁄mo{JH$ H´$mß{V Ho$ Xm°amZ, gyVr dÛ C⁄moJ

_| H´$mß{V bmZo dmbr "pÒnqZJ OoZr' H$m

Am{dÓH$maH$ Wm

(A) Om∞Z Ho$

(B) g°_wAb H´$m∞ÂnQ>Z

(C) OoÂg hmaJ´rÏg

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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H-25. ‘Young Italy Movement’ in 1831

which aimed to establish

Republic was started by

(A) Count Cavour

(B) Giuseppe Garibaldi

(C) Victor Emmanuel

(D) More than one of the above

(E) None of the above

H-26. The architect of the Unification

of Germany who believed in the

policy of ‘blood and iron’ was

(A) Talleyrand

(B) Otto von Bismarck

(C) Metternich

(D) More than one of the above

(E) None of the above

H-27. The US entry into the Second

World War in November 1941

was mainly due to

(A) the invasion of Poland by

Germany

(B) the Battle of Stalingrad

(C) German occupation of

Sudetenland

(D) More than one of the above

(E) None of the above

H-28. Who was the ruler of China

when Marco Polo visited that

country?

(A) Genghis Khan

(B) Kublai Khan

(C) Halagu Khan

(D) More than one of the above

(E) None of the above

H-29. Which was the first English

Settlement in the USA?

(A) Jamestown

(B) Charles Town

(C) Boston

(D) More than one of the above

(E) None of the above

H-30. ‘ The Oath of Tennis Court’ is

connected with the

(A) American Revolution

(B) Russian Revolution

(C) French Revolution

(D) More than one of the above

(E) None of the above

H-31. With which country the Allied

Powers did the Treaty of

Sèvres?

(A) Germany

(B) Turkey

(C) Hungary

(D) More than one of the above

(E) None of the above

H-32. Who invented the flying shuttle

machine in 1733?

(A) James Hargreaves

(B) John Kay

(C) Edmund Cartwright

(D) More than one of the above

(E) None of the above
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H-25. 1831 _| "`ßJ BQ>br _yd_o›Q>', {OgH$m

C‘oÌ` Wm JUVßÃ ÒWm{nV H$aZm, {H$gHo$ ¤mam

‡maÂ^ h˛Am?

(A) H$mCßQ> H$mdya

(B) Ω`ygon J°ar~mÎS>r

(C) {däQ>>a B_mZwEb

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

H-26. "O_©Zr Ho$ EH$sH$aU' H$m dmÒVwH$ma H$m°Z Wm,

Omo "a∫$ Edß bm°h' Zr{V na {dÌdmg H$aVm

Wm?

(A) Q>°bra°�S>

(B) AmoQ>mo dm∞Z {~Ò_mH©$

(C) _oQ>a{ZI

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

H-27. {¤Vr` {dÌd`w’ _|, ZdÂ~a 1941 _|

A_arH$m Ho$ ‡doe H$m _wª` H$maU Wm

(A) nmob°�S> na O_©Zr H$m AmH´$_U

(B) ÒQ>m{bZJ´mS> H$m `w’

(C) gwS>oQo>Zb°�S> na O_©Z H$„Om

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

H-28. O~ _mH$m} nmobmo Zo MrZ H$m Xm°am {H$`m Wm,

V~ dhm± H$m emgH$ H$m°Z Wm?

(A) MßJoO ImZ

(B) Hw$~bB© ImZ

(C) hbmJw ImZ

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

H-29. gß`w∫$ am¡` A_o[aH$m _| nhbr AßJ´oOr ~ÒVr

H$m°Z-gr Wr?

(A) OoÂgQ>mCZ

(B) MmÎg© Q>mCZ

(C) ~moÒQ>Z

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

H-30. "Q>o{Zg H$moQ>© H$s enW' {H$g H´$mß{V go

gÂ~p›YV h°?

(A) A_o[aH$s

(B) Í$gr

(C) \´$mßgrgr

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

H-31. {_Ã amÔ¥>m| Zo god´og H$s gß{Y {H$g Xoe Ho$ gmW

H$s?

(A) O_©Zr

(B) Q>H$s©

(C) hßJar

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

H-32. 1733 _| ‚bmB®J eQ>b _erZ H$m

Am{dÓH$ma {H$gZo {H$`m Wm?

(A) OoÂg hmaJ´rÏg

(B) Om∞Z Ho$

(C) ES>_ßS> H$mQ>©amBQ>

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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H-33. By which Treaty was the Thirty

Years’ War ended?

(A) Treaty of Augsburg

(B) Treaty of Westphalia

(C) Treaty of Trianon

(D) More than one of the above

(E) None of the above

H-34. Who represented Italy in the

Paris Peace Conference?

(A) Lloyd George

(B) Orlando

(C) Georges Clemenceau

(D) More than one of the above

(E) None of the above

H-35. Who took the Komagata Maru

ship on rent to sail to

Vancouver?

(A) Harnam Singh

(B) Gurmeet Singh

(C) Kartar Singh

(D) More than one of the above

(E) None of the above

H-36. Which one of the following was

not associated with the

foundation of the Shore

Committee?

(A) Hussain Rahim

(B) Balwant Singh

(C) Bhagwan Singh

(D) More than one of the above

(E) None of the above

H-37. To which incident had

Mahatma Gandhi called

‘Himalayan Blunder’?

(A) Jallianwala Bagh

massacre

(B) Chauri-chaura incident

(C) Execution of Bhagat Singh

(D) More than one of the above

(E) None of the above

H-38. Which woman revolutionist

died while conducting a raid on

Armory at Chittagong?

(A) Pritilata Waddedar

(B) Kalpana Datta

(C) Santi Ghosh

(D) More than one of the above

(E) None of the above

H-39. Which of the following

revolutionaries was not

associated with Kakori Train

Case?

(A) Ashfaqulla Khan

(B) Ram Prasad Bismil

(C) Prafulla Chaki

(D) More than one of the above

(E) None of the above

H-40. In which language was the first

issue of Ghadar published on

1st November, 1913?

(A) Gurmukhi

(B) Urdu

(C) Hindi

(D) More than one of the above

(E) None of the above
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H-33. {H$g gß{Y Ho$ ¤mam Vrg-dfu` `w’ H$s

g_m{· h˛B©?

(A) Am∞Ωg~J© H$s gß{Y

(B) doÒQ>\o${b`m H$s gß{Y

(C) Q¥>m`moZmoZ H$s gß{Y

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

H-34. no[ag emß{V gÂ_obZ _| BQ>br H$m ‡{V{Z{YÀd

{H$gZo {H$`m?

(A) bm∞`S> Om∞O©

(B) Am∞ab¢S>mo

(C) Om∞O}g äbo_|Ò`y

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

H-35. d¢Hy$da OmZo Ho$ {bE H$mo_mJmQ>m _mÍ$ OhmO

{H$am`o na {H$gZo {b`m Wm?

(A) haZm_ qgh

(B) Jwa_rV qgh

(C) H$aVma qgh

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

H-36. emoa H${_{Q> H$s ÒWmnZm go H$m°Z gß~ß{YV Zht

Wo?

(A) h˛g°Z ahr_

(B) ~bdßV qgh

(C) ^JdmZ qgh

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

H-37. _hmÀ_m Jm±Yr Zo {H$g KQ>Zm H$mo "{h_mb`r

^yb' H$hm Wm?

(A) O{b`mßdmbm ~mJ hÀ`mH$mßS>

(B) Mm°ar-Mm°am H$mßS>

(C) ^JV qgh H$s \$m±gr

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

H-38. MQ>Jm±d eÛmJma na h_bo Ho$ Xm°amZ H$m°Z

_{hbm H´$mp›VH$mar _mar JB© Wrß?

(A) ‡r{VbVm dmS>oSma

(B) H$ÎnZm XŒm

(C) emß{V Kmof

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

H-39. BZ_| go H$m°Z H´$mß{VH$mar H$mH$moar Q¥>oZ H$mßS> go

gÂ~p›YV Zht Wm?

(A) Aeµ\$mHw$Ñmh ImZ

(B) am_ ‡gmX {~pÒ_b

(C) ‡\w$Ñ MmH$s

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

H-40. 1 ZdÂ~a, 1913 H$mo µJXa H$m nhbm AßH$

{H$g ^mfm _| ‡H$m{eV h˛Am?

(A) JwÈ_wIr

(B) CX©y

(C) qhXr

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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( GEOGRAPHY )

G-1. Vulnerable species in India is

(A) Asiatic elephant

(B) Gangetic dolphin

(C) Blackbuck

(D) More than one of the above

(E) None of the above

G-2. The major factor for depletion

of forest resources in India is

(A) expansion of agriculture

(B) railways

(C) scientific forestry

(D) More than one of the above

(E) None of the above

G-3. Developing new methods of

ecological farming through

traditional methods is

promoted by

(A) Beej Bachao Andolan

(B) Navdanya

(C) Tawa Matsya Sangh

(D) More than one of the above

(E) None of the above

G-4. Sardar Sarovar Dam covers

which of the following States?

(A) Gujarat, Rajasthan,

Maharashtra and Madhya

Pradesh

(B) Gujarat, Rajasthan,

Maharashtra and Goa

(C) Gujarat, Rajasthan,

Maharashtra and Punjab

(D) More than one of the above

(E) None of the above

G-5. Most of the river valley projects

constructed to control floods

failed and instead triggered

floods because of

(A) excessive sediments in the

reservoir

(B) heavy rain led water

released from dam

(C) extensive soil erosion due

to flood

(D) More than one of the above

(E) None of the above

G-6. The first State in India that

made rooftop rainwater

harvesting compulsory through

legal norms was

(A) Tamil Nadu

(B) Rajasthan

(C) Meghalaya

(D) More than one of the above

(E) None of the above
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PART—II/III

( GEOGRAPHY )

G-1. ^maV _| Agwa{jV ‡Om{V h°

(A) E{e`mB© hmWr

(B) JmßJo` S>m∞pÎ\$Z

(C) H$mbm {haU

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

G-2. ^maV _| dZ gßgmYZmßo Ho$ ımg H$m ‡_wI

H$maU h°

(A) H•${f H$m {dÒVma

(B) aob

(C) d°km{ZH$ dm{ZH$s

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

G-3. nm[apÒW{VH$ IoVr H$s naßnamJV {d{Y`m| ¤mam

ZB© n’{V`m| Ho$ {dH$mg H$mo {H$gHo$ ¤mam

‡M{bV {H$`m J`m h°?

(A) ~rO ~MmAmo AmßXmobZ

(B) ZdXm›`

(C) Vdm _ÀÒ` gßK

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

G-4. gaXma gamoda ~m±Y {ZÂZ{b{IV _| go {H$Z

am¡`moß H$mo H$da H$aVm h°?

(A) JwOamV, amOÒWmZ, _hmamÔ¥> Edß _‹`

‡Xoe

(B) JwOamV, amOÒWmZ, _hmamÔ¥> Edß JmoAm

(C) JwOamV, amOÒWmZ, _hmamÔ¥> Edß nßOm~

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

G-5. A{YH$mße ZXr KmQ>r n[a`moOZmE± Omo ~mãT> H$s

amoH$Wm_ Ho$ {bE ^r {Z_m©{UV hwB™ na›Vw BZgo

~mãT> H$s pÒW{V Am°a ^`mdh hwB© ä`mooß{H$

(A) BZHo$ Obme`m| _| AÀ`{YH$ AdgmX

O_m hmo JE

(B) AÀ`{YH$ dfm© go ~m±Y go nmZr N>moãS>Zm

nãS>m

(C) ~mãT> go Ï`mnH$ _•Xm AnaXZ hwAm

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

G-6. Cg ‡W_ am¡` H$m Zm_ ~VmBE {OgZo N>V

na dfm© Ob gßM`Z H$mo H$mZyZ ¤mam A{Zdm`©

H$a {X`mü&

(A) V{_bZmSw>

(B) amOÒWmZ

(C) _oKmb`

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

https://applink.adda247.com/d/XhqWf9lSap
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G-7. As per the Agriculture Report,

2017, India was the second

largest producer of _____ in the

world.

(A) rice

(B) cotton

(C) sugarcane

(D) More than one of the above

(E) None of the above

G-8. The institutional reform for the

benefit of farmers was

(A) Land Reforms

(B) creation of Grameen

Banks

(C) Kisan Credit Card scheme

(D) More than one of the above

(E) None of the above

G-9. Koderma in Jharkhand is the

leading producer of which one

of the following minerals?

(A) Bauxite

(B) Mica

(C) Iron

(D) More than one of the above

(E) None of the above

G-10. The only industry in India

which is self-reliant and

complete in value chain is

(A) iron and steel industry

(B) textile industry

(C) sugar industry

(D) More than one of the above

(E) None of the above

G-11. What is the example of the

Kharif crop?

(A) Maize

(B) Wheat

(C) Peas

(D) More than one of the above

(E) None of the above

G-12. Which crop takes almost a year

to grow?

(A) Barley

(B) Jute

(C) Cotton

(D) More than one of the above

(E) None of the above

G-13. The National Highways are laid

and maintained by

(A) Central Public Works

Department (CPWD)

(B) National Highways

Authority of India (NHAI)

(C) Border Roads Organization

(D) More than one of the above

(E) None of the above
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G-7. H•${f [anmoQ>©, 2017 Ho$ _wVm{~H$, ^maV

{dÌd _| _____ CÀnmXZ H$m Xygam ~ãS>m Xoe

Wmü&

(A) Mmdb

(B) H$nmg

(C) Jfim

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

G-8. {H$gmZm| Ho$ \$m`Xo Ho$ {bE gßÒWmJV gwYma Wm

(A) ^y{_ gwYma

(B) J´m_rU ~¢H$moß H$m {Z_m©U

(C) {H$gmZ H´o${S>Q> H$mS>© ÒH$s_

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

G-9. PmaI�S> H$m H$moS>a_m {ZÂZ{b{IV _| go {H$g

I{ZO H$m ‡_wI CÀnmXH$ h°?

(A) ~m∞ägmBQ>

(B) A^´H$

(C) bm°h

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

G-10. ^maV H$m EH$_mÃ C⁄moJ, Omo AmÀ_{Z^©a Edß

_yÎ` ˚m•ßIbm _| nyU© h°, h°

(A) bm°h Edß BÒnmV C⁄moJ

(B) H$nãS>m C⁄moJ

(C) MrZr C⁄moJ

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

G-11. Iar\$ \$gb H$m CXmhaU H$m°Z-gm h°?

(A) _∏$m

(B) Johˇ±

(C) _Q>a

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

G-12. H$m°Z-gr \$gb {dH${gV hmoZo _| bJ^J EH$

df© H$m g_` boVr h°?

(A) Om°

(B) nQ>gZ

(C) H$nmg

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

G-13. amÔ¥>r` amO_mJ© {H$gHo$ ¤mam {~N>mE ({Z{_©V)

Edß gßMm{bV hmoVo hß°?

(A) Ho$›–r` bmoH$ {Z_m©U {d^mJ

(CPWD)

(B) amÔ¥>r` amO_mJ© ‡m{YH$aU, ^maV

(NHAI)

(C) ~m∞S©a amoS> Am∞J}ZmBOoeZ

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

https://applink.adda247.com/d/XhqWf9lSap
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G-14. According to the Annual Report

2016–2017, India ranks _____

in the world in International

Tourism.

(A) 2nd

(B) 3rd

(C) 4th

(D) More than one of the above

(E) None of the above

G-15. Alluvial soil is classified on the

basis of its age. What is the

name given for new alluvial

soil?

(A) Khadar

(B) Bangar

(C) Marshy land

(D) More than one of the above

(E) None of the above

G-16. Which of the following soils is

ideal for growing cotton?

(A) Arid soil

(B) Alluvial soil

(C) Black soil

(D) More than one of the above

(E) None of the above

G-17. Which place in India receives

the highest rainfall?

(A) Srinagar

(B) Mawsynram

(C) Chennai

(D) More than one of the above

(E) None of the above

G-18. Select the correct option from

the codes given below for the

names used for slash and burn

agriculture in different

countries.

Country Name of slash

and burn

agriculture

a. Mexico 1. Roca

b. Brazil 2. Milpa

c. Vietnam 3. Ladang

d. Indonesia 4. Ray

Codes :

(A) a b c d

1 2 3 4

(B) a b c d

4 3 2 1

(C) a b c d

2 1 4 3

(D) More than one of the above

(E) None of the above

G-19. Bhoodan-Gramdan Movement,

also known as the Bloodless

Revolution, was initiated by

(A) Vinoba Bhave

(B) Sukya Bhuvesh

(C) Sardar Patel

(D) More than one of the above

(E) None of the above

G-20. The sparkle in some toothpaste

comes from which mineral?

(A) Limestone

(B) Silica

(C) Mica

(D) More than one of the above

(E) None of the above
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G-14. dm{f©H$ [anmoQ>©, 2016–2017 Ho$ AZwgma

^maV {dÌd n`©Q>Z _| {H$g ÒWmZ na h°?

(A) Xygao

(B) Vrgao

(C) Mm°Wo

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

G-15. ObmoãT> {_≈>r H$mo CgH$s Am`w Ho$ AmYma na

dJuH•$V {H$`m OmVm h°ü& ZB© ObmoãT> {_≈>r H$mo

ä`m Zm_ {X`m J`m h°?

(A) ImXa

(B) ~mßJãS>

(C) XbXbr ^y{_

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

G-16. {ZÂZ{b{IV _| go H$m°Z-gr {_≈>r H$nmg CJmZo

Ho$ {bE AmXe© h°?

(A) ewÓH$ {_≈>r

(B) ObmoãT> {_≈>r

(C) H$mbr {_≈>r

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

G-17. ^maV Ho$ {H$g ÒWmZ na gdm©{YH$ dfm© hmoVr

h°?

(A) lrZJa

(B) _m°{gZam_

(C) MofiB©

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

G-18. {d{^fi Xoem| _| Òb°e Am°a ~Z© H•${f Ho$ {bE

‡`w∫$ Zm_m| Ho$ {bE ZrMo {XE JE Hy$Q> go ghr

{dH$În H$m M`Z H$s{OEü&

Xoe Òb°e Am°a ~Z©

H•${f H$m Zm_

a. _opägH$mo 1. amooH$m

b. ~´mOrb 2. {_Înm

c. {d`VZm_ 3. bmXmßJ

d. BßS>moZo{e`m 4. ao

Hy$Q> :

(A) a b c d

1 2 3 4

(B) a b c d

4 3 2 1

(C) a b c d

2 1 4 3

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

G-19. ^yXmZ-J´m_XmZ AmßXmobZ, {Ogo a∫$hrZ H´$mß{V

Ho$ Zm_ go ^r OmZm OmVm h°, {H$gHo$ ¤mam

ewÍ$ {H$`m J`m Wm?

(A) {dZmo~m ^mdo

(B) gwä` ^wdoe

(C) gaXma nQ>ob

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

G-20. Hw$N> Q>yWnoÒQ> _| M_H$ {H$g I{ZO go AmVr

h°?

(A) MyZm-nÀWa

(B) {g{bH$m

(C) A^´H$

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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G-21. Which thermal power plant is

present in Bihar?

(A) Neyveli

(B) Talcher

(C) Barauni

(D) More than one of the above

(E) None of the above

G-22. _____ is a major power-

providing corporation in India

and it has ISO certification for

environment management

system 14001.

(A) NTPC

(B) HAIL

(C) NHPC

(D) More than one of the above

(E) None of the above

G-23. Golden Quadrilateral Super

Highways connect four major

cities in India to reduce time

and distance. Which of the

following options includes the

cities?

(A) Delhi–Kolkata–

Chennai–Mumbai

(B) Srinagar–Jaipur–

Chennai–Kolkata

(C) Delhi–Ahmedabad–

Bengaluru–Lucknow

(D) More than one of the above

(E) None of the above

G-24. Which of the following ports

was first made after

Independence?

(A) Mangalore

(B) Kandla

(C) Mumbai

(D) More than one of the above

(E) None of the above

G-25. The State of Jharkhand,

Chattisgarh and Madhya

Pradesh are rich in minerals

and _____ deposits.

(A) coal

(B) gold

(C) silicon

(D) More than one of the above

(E) None of the above

G-26. Which of the following

countries is the world’s largest

producer of rice?

(A) India

(B) China

(C) South Korea

(D) More than one of the above

(E) None of the above
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G-21. {~hma _| H$m°Z-gm W_©b nmda flbmßQ> _m°OyX

h°?

(A) Zodobr

(B) VmbMoa

(C) ~am°Zr

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

G-22. _____ ^maV _| EH$ ‡_wI e{∫$ ‡XmZ H$aZo

dmbm {ZJ_ h° Am°a BgHo$ nmg n`m©daU

‡~ßYZ ‡Umbr 14001 Ho$ {bE AmB0

Eg0 Amo0 ‡_mUZ h°ü&

(A) NTPC

(B) HAIL

(C) NHPC

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

G-23. Òd{U©_ MVw^w©O gwna hmBdo g_` Am°a Xyar H$mo

H$_ H$aZo Ho$ {bE ^maV Ho$ Mma ‡_wI ehamßo

H$mo OmoãS>Vm h°ü& {ZÂZ{b{IV _| go {H$g

{dH$În _| do eha em{_b h¢?

(A) {XÑr–H$mobH$mVm–MofiB©–_wß~B©

(B) lrZJa–O`nwa–MofiB©–H$mobH$mVm

(C) {XÑr–Ah_Xm~mX–~|JbwÈ–bIZD$

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

G-24. {ZÂZ{b{IV _| go H$m°Z-gm ~ßXaJmh AmOmXr

Ho$ ~mX g~go nhbo ~Zm`m J`m Wm?

(A) _°ßJbmoa

(B) H$mßS>bm

(C) _wÂ~B©

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

G-25. PmaIßS>, N>ŒmrgJãT> Am°a _‹` ‡Xoe am¡`

I{ZOm| Am°a _____ {Zjon Ho$ _m_bo _|

g_•’ h¢ü&

(A) H$mo`bm

(B) gmoZm

(C) {g{bH$m∞Z

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

G-26. {ZÂZ{b{IV _| go H$m°Z-gm Xoe {dÌd _|

Mmdb H$m g~go ~ãS>m CÀnmXH$ h°?

(A) ^maV

(B) MrZ

(C) X{jU H$mo[a`m

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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G-27. From which year was the

National Forest Policy

introduced in India?

(A) 1952

(B) 1963

(C) 1978

(D) More than one of the above

(E) None of the above

G-28. What is the raw material from

which aluminium is extracted?

(A) Galena

(B) Cuprite

(C) Bauxite

(D) More than one of the above

(E) None of the above

G-29. Where is Gobi Desert located?

(A) China

(B) Africa

(C) Southern Australia

(D) More than one of the above

(E) None of the above

G-30. Seine river flows through which

city?

(A) London

(B) Paris

(C) Rome

(D) More than one of the above

(E) None of the above

G-31. The major producer of the raw

jute in the world is

(A) India

(B) Bangladesh

(C) Scotland

(D) More than one of the above

(E) None of the above

G-32. In which State of India, iron ore

is not found?

(A) Bihar

(B) Madhya Pradesh

(C) Odisha

(D) More than one of the above

(E) None of the above

G-33. Where is Southern Gangotri

located?

(A) Uttarakhand

(B) Antarctica

(C) Himalaya

(D) More than one of the above

(E) None of the above
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G-27. ^maV _| amÔ¥>r` dZ Zr{V {H$g df© go bmJy

H$s JB© Wr?

(A) 1952

(B) 1963

(C) 1978

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

G-28. EoÎ`w_r{Z`_ {H$g H$Éo _mb go {ZH$mbm

OmVm h°?

(A) J°brZm

(B) ä`y‡mBQ>

(C) ~m∞ägmBQ>

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

G-29. Jmo~r _ÈÒWb H$hm± pÒWV h°?

(A) MrZ

(B) A\´$sH$m

(C) X{jUr Am∞ÒQ¥>o{b`m

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

G-30. grZ ZXr {H$g ZJa go hmoH$a ~hVr h°?

(A) bßXZ

(B) no[ag

(C) amo_

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

G-31. {dÌd _| H$Éo nQ>gZ H$m ‡_wI CÀnmXH$ h°

(A) ^maV

(B) ~mßΩbmXoe

(C) ÒH$m∞Q≤>b°�S>

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

G-32. {ZÂZ _| go {H$g ^maVr` am¡` _| bm°h

A`ÒH$ Cnb„Y Zht h°?

(A) {~hma

(B) _‹` ‡Xoe

(C) Amo{S>em

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

G-33. X{jU JßJmoÃr H$hm± pÒWV h°?

(A) CŒmamI�S>

(B) AßQ>mH©${Q>H$m

(C) {h_mb`

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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G-34. Which is the longest river in

South America?

(A) Nile

(B) Amazon

(C) Mississippi

(D) More than one of the above

(E) None of the above

G-35. Which State in India is the

largest producer of wheat?

(A) Haryana

(B) Punjab

(C) Uttar Pradesh

(D) More than one of the above

(E) None of the above

G-36. Rio Earth Summit’s (1992)

‘Agenda 21’ includes

(A) environmental protection

(B) global sustainable

development

(C) global peace

(D) More than one of the above

(E) None of the above

G-37. The largest coal producing

nation in the world is

(A) India

(B) USA

(C) China

(D) More than one of the above

(E) None of the above

G-38. Which place is known as the

oldest oil storage in India?

(A) Bombay High, Maharashtra

(B) Ankleshwar, Gujarat

(C) Navagaon, Gujarat

(D) More than one of the above

(E) None of the above

G-39. The largest producer of

aluminium in the world is

(A) France

(B) India

(C) USA

(D) More than one of the above

(E) None of the above

G-40. Where is Great Victoria Desert

situated?

(A) Australia

(B) India

(C) Egypt

(D) More than one of the above

(E) None of the above
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G-34. X{jU A_o[aH$m H$s g~go bß~r ZXr h°

(A) Zrb

(B) A_oµOZ

(C) {_{g{gnr

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

G-35. ^maV H$m A{YH$V_ Johy± CÀnmXH$ am¡` h°

(A) h[a`mUm

(B) nßOm~

(C) CŒma ‡Xoe

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

G-36. [a`mo n•œdr {eIa gÂ_obZ (1992) Ho$

"EOo›S>m 21' _| {Z{hV h°

(A) n`m©daU gßajU

(B) d°pÌdH$ gVV≤ {dH$mg

(C) {dÌd emß{V

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

G-37. {dÌd H$m g~go A{YH$V_ H$mo`bm CÀnmXH$

Xoe H$m°Z-gm h°?

(A) ^maV

(B) gß`w∫$ am¡` A_o[aH$m

(C) MrZ

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

G-38. ^maV _| g~go nwamZm Vob H$m ^ßS>ma H$hm± h°?

(A) ~m∞Â~o hmB©, _hmamÔ¥>

(B) AßH$boÌda, JwOamV

(C) ZdJm±d, JwOamV

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

G-39. {dÌd _oß EoÎ`w_r{Z`_ H$m g~go ~ãS>m CÀnmXH$

h°

(A) \´$mßg

(B) ^maV

(C) gß`w∫$ am¡` A_o[aH$m

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

G-40. J´oQ> {däQ>mo[a`m _ÈÒWb H$hm± pÒWV h°?

(A) Am∞ÒQ¥>o{b`m

(B) ^maV

(C) {_Ú

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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PART—III

( ECONOMICS )

E-1. The important attribute

for comparing development

between countries is

(A) land

(B) population

(C) income

(D) More than one of the above

(E) None of the above

E-2. The average income is also

known as

(A) per capita income

(B) personal income

(C) national income

(D) More than one of the above

(E) None of the above

E-3. ‘Human Development Report’ is

published by which of the

following organizations?

(A) UNDP

(B) UNESCO

(C) WWF

(D) More than one of the above

(E) None of the above

E-4. The ‘tertiary sector’ of an

economy is also called as

(A) agriculture sector

(B) service sector

(C) manufacturing sector

(D) More than one of the above

(E) None of the above

E-5. Under MGNREGA 2005, how

many days of employment in

a year are guaranteed by

the government for rural

unemployed?

(A) 200

(B) 50

(C) 100

(D) More than one of the above

(E) None of the above

E-6. What percentage of their

deposits is kept as cash by the

banks in India?

(A) 25%

(B) 15%

(C) 30%

(D) More than one of the above

(E) None of the above
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PART—III

( ECONOMICS )

E-1. Xoem| Ho$ _‹` {dH$mg H$s VwbZm H$m _wª`

JwUmßH$ h°

(A) ^y{_

(B) OZgßª`m

(C) Am`

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

E-2. Am°gV Am` Am°a ^r {H$g Zm_ go OmZr

OmVr h°?

(A) ‡{V Ï`{∫$ Am`

(B) Ï`{∫$JV Am`

(C) amÔ¥>r` Am`

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

E-3. "_mZd {dH$mg [anmoQ>©' {H$g gßJR>Z ¤mam

‡H$m{eV H$s OmVr h°?

(A) `y0 EZ0 S>r0 nr0

(B) `yZoÒH$mo

(C) S>„Î`y0 S>„Î`y0 E\$0

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

E-4. AW©Ï`dÒWm _| "V•Vr` loUr' H$m C⁄moJ Am°a

ä`m H$hbmVm h°?

(A) H•${f C⁄moJ

(B) godm joÃ

(C) CÀnmXZ C⁄moJ

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

E-5. _ZaoJm 2005 Ho$ AßVJ©V, gaH$ma ¤mam

J´m_rU ~oamoOJmam| H$mo EH$ df© _| {H$VZo

H$m`©{Xdg Ho$ amoOJma H$s JmaßQ>r Xr OmVr h°?

(A) 200

(B) 50

(C) 100

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

E-6. ^maV _| ~¢H$ AnZr O_m H$m {H$VZm ‡{VeV

YZ ZH$Xr Ho$ Í$n _| aIVo h¢?

(A) 25%

(B) 15%

(C) 30%

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

https://applink.adda247.com/d/XhqWf9lSap
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E-7. Which among the following

options defines the term

‘globalization’ ?

(A) Rapid economic integration

among countries

(B) Integration of cultures

(C) Isolation among countries

(D) More than one of the above

(E) None of the above

E-8. In which year did the Indian

Government enact the

Consumer Protection Act

(COPRA)?

(A) 1991

(B) 1992

(C) 1986

(D) More than one of the above

(E) None of the above

E-9. National Consumer Day in

India is observed on

(A) 24th December

(B) 21st November

(C) 23rd May

(D) More than one of the above

(E) None of the above

E-10. Which right does consumer

have against unfair trade

practices and exploitation?

(A) Right to constitutional

remedies

(B) Right to information

(C) Right against exploitation

(D) More than one of the above

(E) None of the above

E-11. Which Act was passed to

empower its citizen to question

the government about its

functions?

(A) The RTE Act

(B) The IT Act

(C) The RTI Act

(D) More than one of the above

(E) None of the above

E-12. Which MNC bought over small

Indian company ‘Parakh

Foods’?

(A) Lactalis

(B) Cargill Foods

(C) MARS

(D) More than one of the above

(E) None of the above
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E-7. {ZÂZ{b{IV _| go H$m°Z-gm {dH$În

"d°ÌdrH$aU' H$mo Bß{JV H$aVm h°?

(A) Xoem| Ho$ _‹` Vrd´ Am{W©H$ EH$sH$aU

(B) gmßÒH•${VH$ EH$sH$aU

(C) Xoem| Ho$ _‹` n•WäH$aU

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

E-8. ^maV gaH$ma ¤mam Cn^mo∫$m gßajU

A{Y{Z`_ (H$monam) H$~ nm[aV {H$`m J`m?

(A) 1991

(B) 1992

(C) 1986

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

E-9. ^maV _| amÔ¥>r` Cn^mo∫$m {Xdg _Zm`m OmVm

h°

(A) 24 {Xgß~a H$mo

(B) 21 ZdÂ~a H$mo

(C) 23 _B© H$mo

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

E-10. AZw{MV Ï`mnma ‡WmAm| Edß emofU Ho$ {dÈ’

Cn^mo∫$m Ho$ nmg H$m°Z-gm A{YH$ma h°?

(A) gßd°Ym{ZH$ CnMmam| H$m A{YH$ma

(B) gyMZm H$m A{YH$ma

(C) emofU Ho$ {dÈ’ A{YH$ma

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

E-11. AnZo ZmJ[aH$m| H$mo gaH$ma go CgHo$ H$m`m] Ho$

~mao _| gdmb H$aZo H$m A{YH$ma XoZo Ho$ {bE

H$m°Z-gm A{Y{Z`_ nm[aV {H$`m J`m Wm?

(A) Ama0 Q>r0 B©0

(B) AmB0 Q>r0

(C) Ama0 Q>r0 AmB0

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

E-12. {H$g ~h˛amÔ¥>r` Hß$nZr Zo N>moQ>r ^maVr` Hß$nZr

"nmaI \y$S≤>g' H$mo IarXm?

(A) b°äQ>m{bg

(B) H$ma{Jb \y$S≤>g

(C) _mg©

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

https://applink.adda247.com/d/XhqWf9lSap
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E-13. Which of the following about

MGNREGA Act is incorrect ?

(A) Right to work in about

625 districts of India

(B) 100 days of guaranteed

employment in a year

(C) It will not give an

employment allowance if

the government fails

(D) More than one of the above

(E) None of the above

E-14. Which of the following

countries has better human

development performance

according to data of 2016?

(A) Bangladesh

(B) Sri Lanka

(C) Pakistan

(D) More than one of the above

(E) None of the above

E-15. _____ is the situation when

both parties have to agree to

sell and buy each other’s

commodities.

(A) Barter system

(B) Marketing

(C) Double coincidence of

wants

(D) More than one of the above

(E) None of the above

E-16. Which of the following does not

come under the terms of

credit?

(A) Interest rate

(B) Collateral

(C) Deposit

(D) More than one of the above

(E) None of the above

E-17. Which of the following about

RBI is incorrect ?

(A) RBI can’t supervise the

informal sector

(B) RBI issues currency notes

on behalf of the

government

(C) RBI accepts deposits from

customers

(D) More than one of the above

(E) None of the above

E-18. The Indian Government took

steps to attract foreign

companies to invest in India by

providing world-class facilities.

What are these industrial zones

called?

(A) SEZs (Special Economic

Zones)

(B) IZs (Industrial Zones)

(C) PFZs (Provider Facility

Zones)

(D) More than one of the above

(E) None of the above
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E-13. _ZaoJm A{Y{Z`_ Ho$ ~mao _| {ZÂZ{b{IV _|

go H$m°Z-gm JbV h°?

(A) ^maV Ho$ bJ^J 625 OZnXm| _| H$m_

H$aZo H$m A{YH$ma

(B) EH$ df© _| 100 {XZ Ho$ amoOJma H$s

JmaßQ>r

(C) `{X gaH$ma Ag\$b hmoVr h°, Vmo `h

amoOJma ^Œmm Zht XoJr

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

E-14. 2016 Ho$ Am±H$ãS>m| Ho$ AZwgma {ZÂZ{b{IV

Xoem| _| go ~ohVa _mZd {dH$mg {ZÓnmXZ

dmbm Xoe H$m°Z-gm h°?

(A) ~mßΩbmXoe

(B) lrbßH$m

(C) nm{H$ÒVmZ

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

E-15. _____ dh pÒW{V h° O~ XmoZm| njm| H$mo

EH$-Xygao H$s dÒVwAm| H$mo ~oMZo Am°a IarXZo

Ho$ {bE gh_V hmoZm nãS>Vm h°ü&

(A) dÒVw {d{Z_` ‡Umbr

(B) _mH}$qQ>J

(C) MmhVm| H$m Xmoham gß`moJ

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

E-16. {ZÂZ{b{IV _| go H$m°Z-gm H´o${S>Q> H$s eVm]

Ho$ AßVJ©V Zht AmVm h°?

(A) „`mO-Xa

(B) gßnmpÌd©H$ ‡{V^y{V

(C) O_m

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

E-17. Ama0 ~r0 AmB0 Ho$ ~mao _| {ZÂZ{b{IV _|

go H$m°Z-gm JbV h°?

(A) Ama0 ~r0 AmB0 AZm°nMm[aH$ joÃ

H$s {ZJamZr Zht H$a gH$Vm h°

(B) Ama0 ~r0 AmB0 gaH$ma H$s Amoa go

H$ao›gr ZmoQ> Omar H$aVm h°

(C) Ama0 ~r0 AmB0 J´mhH$m| go O_m

ÒdrH$ma H$aVm h°

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

E-18. ^maV gaH$ma Zo {dú-ÒVar` gw{dYmE± XoH$a

{dXoer Hß$n{Z`m| H$mo ^maV _| {Zdoe Ho$ {bE

AmH${f©V H$aZo Ho$ {bE H$X_ CR>mEü& BZ

Am°⁄mo{JH$ joÃm| H$mo ä`m H$hVo h¢?

(A) SEZs ({deof Am{W©H$ joÃ)

(B) IZs (Am°⁄mo{JH$ joÃ)

(C) PFZs (‡XmVm gw{dYm joÃ)

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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E-19. GDP is the total value of _____

produced during a particular

year.

(A) all goods and services

(B) all final goods and services

(C) all intermediate goods and

services

(D) More than one of the above

(E) None of the above

E-20. In India, the Black Revolution

is related with

(A) fisheries production

(B) coal production

(C) crude oil production

(D) More than one of the above

(E) None of the above

E-21. Which one is not cash crop in

India?

(A) Jute

(B) Peanut

(C) Barley

(D) More than one of the above

(E) None of the above

E-22. What was the basis of the

First Five-Year Plan in India?

(A) Harrod-Domar model

(B) Mahalanobis model

(C) Dadabhai Naoroji model

(D) More than one of the above

(E) None of the above

E-23. The Committee of R. N.

Malhotra is related with

(A) sick industry

(B) tax reform

(C) insurance sector

(D) More than one of the above

(E) None of the above

E-24. Which officer is responsible

for controlling the government

spending?

(A) RBI

(B) Planning Commission

(C) Finance Ministry

(D) More than one of the above

(E) None of the above

E-25. The maximum foreign

currencies are gained by India

in export of

(A) iron

(B) tea

(C) cotton

(D) More than one of the above

(E) None of the above

E-26. Which one is not included in

the ‘National Food Security

Mission’?

(A) Oilseeds

(B) Wheat

(C) Rice

(D) More than one of the above

(E) None of the above
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E-19. Or0S>r0nr0 EH$ {deof df© Ho$ Xm°amZ

CÀnm{XV _____ H$m Hw$b _yÎ` h°ü&

(A) g^r gm_mZ Am°a godmAm|

(B) g^r Aß{V_ gm_mZ Am°a godmAm|

(C) g^r _‹`dVu gm_mZ Am°a godmAm|

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

E-20. ^maV _| H$mbr H´$mß{V gÂ~p›YV h°

(A) _ÀÒ` CÀnmXZ go

(B) H$mo`bm CÀnmXZ go

(C) H$Ém Vob CÀnmXZ go

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

E-21. ^maV H$s ZH$Xr \$gb H$m°Z-gr Zht h°?

(A) OyQ>

(B) _±yJ\$br

(C) Om°

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

E-22. ^maV _| ‡W_ nßMdfu` `moOZm H$m AmYma

Wm

(A) h°amoS>-S>mo_a _m∞S>b

(B) _hmbZmo{~g _m∞S>b

(C) XmXm^mB© Zm°amoOr _m∞S>b

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

E-23. Ama0 EZ0 _ÎhmoÃm H$_oQ>r gÂ~p›YV h°

(A) ~r_ma C⁄moJ go

(B) H$a gwYma go

(C) ~r_m joÃ go

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

E-24. gaH$mar Ï`` H$mo {Z`ß{ÃV H$aZo H$m ‡m{YH$mar

h°

(A) ^maVr` [aOd© ~¢H$

(B) `moOZm Am`moJ

(C) {dŒm _ßÃmb`

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

E-25. ^maV A{YH$V_ {dXoer _w–m {H$gHo$ {Z`m©V

go H$_mVm h°?

(A) bmohm

(B) Mm`

(C) H$nãS>m

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

E-26. {ZÂZ _| go H$m°Z-gm EH$ "amÔ¥>r` Im⁄ gwajm

{_eZ' _| em{_b Zht h°?

(A) {VbhZ

(B) Johˇ±

(C) Mmdb

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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E-27. When was ‘NITI Aayog’ started?

(A) 1st January, 2014

(B) 1st June, 2014

(C) 1st January, 2015

(D) More than one of the above

(E) None of the above

E-28. What is the name of the first

indigenous anti-radiation

missile of India?

(A) Tandav

(B) Trinetra

(C) Saksham

(D) More than one of the above

(E) None of the above

E-29. India’s thirteenth main port is

going to be established in

(A) Kerala

(B) Gujarat

(C) Maharashtra

(D) More than one of the above

(E) None of the above

E-30. In India, in which year was Rail

Budget merged with General

Budget?

(A) 2015

(B) 2016

(C) 2017

(D) More than one of the above

(E) None of the above

E-31. The ‘Pradhan Mantri Kisan

Samman Nidhi Yojana’ was

started on

(A) 1st November, 2017

(B) 1st January, 2018

(C) 1st February, 2019

(D) More than one of the above

(E) None of the above

E-32. By which institution is the

poverty line determined?

(A) NSSO

(B) NITI Aayog

(C) RBI

(D) More than one of the above

(E) None of the above

E-33. The Pink Revolution is related

with

(A) onion production

(B) fertilizer production

(C) egg production

(D) More than one of the above

(E) None of the above

E-34. ‘Robinhood effect’ is related

with

(A) income and consumption

(B) income generation

(C) income redistribution

(D) More than one of the above

(E) None of the above
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E-27. "Zr{V Am`moJ' ApÒVÀd _oß H$~ Am`m?

(A) 1 OZdar, 2014

(B) 1 OyZ, 2014

(C) 1 OZdar, 2015

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

E-28. ^maV H$s nhbr ÒdXoer E|Q>r-ao{S>EeZ

{_gmBb H$m Zm_ h°

(A) VmßS>d

(B) {ÃZoÃ

(C) gj_

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

E-29. ^maV H$m 13dm± ‡YmZ ~›XaJmh {H$g am¡`

_| ÒWm{nV {H$`m OmZo dmbm h°?

(A) Ho$ab

(B) JwOamV

(C) _hmamÔ¥>

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

E-30. ^maV _| {H$g df© aob ~OQ> H$mo Am_ ~OQ>

_| {_bm {X`m J`m Wm?

(A) 2015

(B) 2016

(C) 2017

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

E-31. "‡YmZ _ßÃr {H$gmZ gÂ_mZ {Z{Y `moOZm'

{H$g VmarI H$mo ewÍ$ H$s JB© Wr?

(A) 1 ZdÂ~a, 2017

(B) 1 OZdar, 2018

(C) 1 \$adar, 2019

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

E-32. Jar~r aoIm H$mo {ZYm©[aV H$aZo Ho$ {bE

H$m°Z-gm gßJR>Z gd}jU H$aVm h°?

(A) EZ0 Eg0 Eg0 Amo0

(B) Zr{V Am`moJ

(C) Ama0 ~r0 AmB0

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

E-33. Jwbm~r H´$mß{V gÂ~p›YV h°

(A) fl`mO CÀnmXZ go

(B) Cd©aH$ CÀnmXZ go

(C) AßS>m CÀnmXZ go

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

E-34. "am∞{~Zh˛S> ‡^md' {ZÂZ{b{IV _| go {H$ggo

gÂ~p›YV h°?

(A) Am` Am°a Cn^moJ

(B) Am` CnmO©Z

(C) Am` nwZ{d©VaU

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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E-35. In which economic programme

does dairy industry stand?

(A) Tertiary fields

(B) Primary fields

(C) Intermediate fields

(D) More than one of the above

(E) None of the above

E-36. From which country were the

Five-Year Plans taken in the

Indian Constitution?

(A) Russia

(B) England

(C) USA

(D) More than one of the above

(E) None of the above

E-37. Import-export tax on goods is

known as

(A) customs duty

(B) product duty

(C) VAT

(D) More than one of the above

(E) None of the above

E-38. In India, mixed economy was

adopted in which Five-Year

Plan?

(A) Fourth Five-Year Plan

(B) Second Five-Year Plan

(C) Third Five-Year Plan

(D) More than one of the above

(E) None of the above

E-39. ‘Open Market Operation’ is

related with which policy?

(A) Credit policy

(B) Tariff policy

(C) Commercial policy

(D) More than one of the above

(E) None of the above

E-40. In India, in which year,

nationalization of banks took

place?

(A) 1950

(B) 1960

(C) 1969

(D) More than one of the above

(E) None of the above
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E-35. S>o`ar C⁄moJ, Am{W©H$ J{V{d{Y Ho$ {H$g joÃ

_oß AmVm h°?

(A) V•Vr`H$ joÃ

(B) ‡mW{_H$ joÃ

(C) _‹`dVu joÃ

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

E-36. ^maV Ho$ gß{dYmZ _| nßMdfu` `moOZmAm| H$s

AdYmaUm {H$g Xoe go br JB© h°?

(A) Í$g

(B) BßΩb¢S>

(C) gß`w∫$ am¡` A_o[aH$m

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

E-37. dÒVwAm| Ho$ Am`mV Edß {Z`m©V na bJm`m

OmZo dmbm H$a {H$g Zm_ go OmZm OmVm h°?

(A) gr_m ewÎH$

(B) CÀnmX ewÎH$

(C) d°Q>

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

E-38. ^maV Zo {H$g nßMdfu` `moOZm Ho$ Xm°amZ

{_{lV AW©Ï`dÒWm H$mo AnZm`m?

(A) MVwW© nßMdfu` `moOZm

(B) {¤Vr` nßMdfu` `moOZm

(C) V•Vr` nßMdfu` `moOZm

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

E-39. Iwbo ~mµOma H$s {H´$`m (Open Market

Operation) {H$g Zr{V H$m AßJ h°?

(A) gmI Zr{V

(B) ‡ewÎH$ Zr{V

(C) Ï`mnm[aH$ Zr{V

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

E-40. ^maV _| ~¢H$m| H$m amÔ¥>r`H$aU h˛Am Wm

(A) 1950 _|

(B) 1960 _|

(C) 1969 _|

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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PART—III

( POLITICAL SCIENCE )

P-1. The Preamble of the

Constitution of India was

borrowed from which country?

(A) Japan

(B) Germany

(C) England

(D) More than one of the above

(E) None of the above

P-2. The States having largest

number of Lok Sabha

Constituencies, in ascending

order, are

(A) Uttar Pradesh, Maha-

rashtra, West Bengal,

Bihar

(B) Uttar Pradesh, Bihar,

Maharashtra, West Bengal

(C) Maharashtra, Uttar

Pradesh, West Bengal,

Bihar

(D) More than one of the above

(E) None of the above

P-3. Why is democracy a better form

of Government?

(A) It is more accountable.

(B) It has improved quality of

decision making.

(C) It deals with differences

and conflicts.

(D) More than one of the above

(E) None of the above

P-4. The President exercises his/her

powers on the advice of

(A) Council of Ministers

(B) the Supreme Court

(C) Commander-in-Chief of

the Indian Army

(D) More than one of the above

(E) None of the above

P-5. What does the anti-defection

law suggest?

(A) Regulation of internal

affairs

(B) Amended to prevent

changing parties

(C) Compulsory to fill their

income tax return

(D) More than one of the above

(E) None of the above

P-6. Who said, ‘‘Democracy is the

government of the people, for

the people, by the people’’?

(A) Adam Smith

(B) Abraham Lincoln

(C) J. S. Mill

(D) More than one of the above

(E) None of the above

P-7. Right to Education (RTE),

which came under effect on 1st

April, 2010, comes under

which of the following

Fundamental Rights?

(A) Right to Equality

(B) Right to Freedom

(C) Cultural and Educational

Rights

(D) More than one of the above

(E) None of the above
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PART—III

( POLITICAL SCIENCE )

P-1. ^maV Ho$ gß{dYmZ H$s ‡ÒVmdZm {H$g Xoe go

br JB© h°?

(A) OmnmZ

(B) O_©Zr

(C) BßΩb°�S>

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

P-2. A{YH$V_ {Zdm©MZ joÃm| dmbo am¡`m| H$mo

CZHo$ ~ãT>Vo H´$_ _| Ï`dpÒWV H$a ghr

{dH$În H$m M`Z H$s{OEü&

(A) CŒma ‡Xoe, _hmamÔ¥>, npÌM_ ~ßJmb,

{~hma

(B) CŒma ‡Xoe, {~hma, _hmamÔ¥>, npÌM_

~ßJmb

(C) _hmamÔ¥>, CŒma ‡Xoe, npÌM_ ~ßJmb,

{~hma

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

P-3. ä`m| bmoH$VßÃ, gaH$ma H$m EH$ ~ohVa ‡mÍ$n

h°?

(A) `h A{YH$ CŒmaXm`r h°

(B) Bg_| {ZU©` boZo H$s {d{eÔ>Vm h°

(C) `h _V^oX Edß gßKf© H$m {ZnQ>mam

H$aVm h°

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

P-4. amÔ¥>n{V AnZo A{YH$mam| H$m {ZÒVmaU {H$gH$s

gbmh go H$aVm h°?

(A) _ßÃr n[afX≤

(B) gw‡r_ H$moQ>© (gdm}É ›`m`mb`)

(C) ^maVr` goZm H$m H$_mßS>a-BZ-Mr\$

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

P-5. Xb-~Xb {damoYr H$mZyZ ä`m gwPmd XoVm h°?

(A) AmßV[aH$ _m_bm| H$m {d{Z`_Z

(B) nm{Q>©`m| H$mo ~XbZo go amoH$Zo Ho$ {bE

gßemo{YV

(C) CZH$m BZ≤H$_ Q>°äg [aQ>Z© ^aZm

A{Zdm`© h°

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

P-6. {H$gH$m H$WZ h°, ""bmoH$Vmß{ÃH$ gaH$ma

OZVm H$s h°, OZVm Ho$ {bE h° Edß OZVm

¤mam h°''?

(A) EoS_ pÒ_W

(B) A~´mh_ qbH$Z

(C) Oo0 Eg0 {_b

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

P-7. {ejm H$m A{YH$ma (RTE), Omo 1 A‡°b,

2010 H$mo ‡^md _| Am`m, {H$g _m°{bH$

A{YH$ma Ho$ AßVJ©V AmVm h°?

(A) g_mZVm H$m A{YH$ma

(B) ÒdVßÃVm H$m A{YH$ma

(C) gmßÒH•${VH$ Edß e°j{UH$ A{YH$ma

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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P-8. The Fundamental Duties were

included in the Constitution in

1976 by which of the following

Amendment Acts?

(A) 25th

(B) 38th

(C) 42nd

(D) More than one of the above

(E) None of the above

P-9. Who among the following was

not a member of the

Constituent Assembly?

(A) Sarat Chandra Bose

(B) Sarojini Naidu

(C) Maulana Abul Kalam Azad

(D) More than one of the above

(E) None of the above

P-10. Which of the following are

incorrect about the money

bills?

1. It is related to financial

matters.

2. It can be introduced in the

Lok Sabha only.

3. It can be introduced in the

Rajya Sabha only.

4. Certificate from the

Speaker is required on its

nature.

Select the correct answer using

the codes given below.

(A) 1, 2, 3, 4

(B) 2, 3, 4

(C) 1, 3, 4

(D) More than one of the above

(E) None of the above

P-11. The Supreme Court of India

came into existence on

(A) 15th August, 1947

(B) 26th January, 1961

(C) 2nd October, 1952

(D) More than one of the above

(E) None of the above

P-12. Consider the following about

the Lok Adalat :

1. It is an inexpensive judicial

service.

2. It resolves disputes in

single hearing.

3. It provides speedy justice.

4. A retired judge chairs the

Lok Adalat.

5. It is an apex court.

Select the correct answer using

the codes given below.

(A) 2, 3, 4, 5

(B) 3, 4, 5

(C) 1, 2, 3, 4

(D) More than one of the above

(E) None of the above

P-13. By which country of the world,

was Apartheid followed as

an official policy between

1948–1989?

(A) South Africa

(B) China

(C) USA

(D) More than one of the above

(E) None of the above
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P-8. {H$g gßemoYZ A{Y{Z`_ ¤mam gß{dYmZ _|

_m°{bH$ H$V©Ï` 1976 _| {Z{hV h˛E?

(A) 25dm±

(B) 38dm±

(C) 42dm±

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

P-9. BZ_| go H$m°Z gß{dYmZ-g^m H$m gXÒ` Zht

Wm?

(A) eaV Mß– ~mog

(B) gamo{OZr Zm`Sy>

(C) _m°bmZm A~wb H$bm_ AmµOmX

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

P-10. YZ {dYo`H$ Ho$ ~mao _| {ZÂZ{b{IV _| go

H$m°Z-go H$WZ AgÀ` h¢?

1. `h {dŒmr` _m_bm| go gß~ß{YV h°ü&

2. `h Ho$db bmoH$ g^m _| ‡ÒVm{dV hmoVm

h°ü&

3. `h Ho$db am¡` g^m _oß ‡ÒVm{dV hmoVm

h°ü&

4. BgH$s ‡H•${V na g^mn{V ¤mam ‡_mU

H$s AmdÌ`H$Vm hmoVr h°ü&

ZrMo {XE JE Hy$Q> H$m ‡`moJ H$a ghr CŒma

Mw{ZEü&

(A) 1, 2, 3, 4

(B) 2, 3, 4

(C) 1, 3, 4

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

P-11. ^maVr` CÉV_ ›`m`mb` ApÒVÀd _| H$~

Am`m?

(A) 15 AJÒV, 1947

(B) 26 OZdar, 1961

(C) 2 AäVy>~a, 1952

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

P-12. bmoH$ AXmbV Ho$ ~mao _| {ZÂZ{b{IV H$WZm|

na {dMma H$s{OE :

1. `h EH$ gÒVr ›`m{`H$ godm h°ü&

2. `h EH$b noer na {ddmX {ZdmaU

H$aVm h°ü&

3. `h Àd[aV ›`m` XoVm h°ü&

4. godm{Zd•Œm OO bmoH$ AXmbV MbmVm

h°ü&

5. `h EH$ gdm}É ›`m`mb` h°ü&

ZrMo {XE JE Hy$Q> H$m ‡`moJ H$a ghr CŒma

Mw{ZEü&

(A) 2, 3, 4, 5

(B) 3, 4, 5

(C) 1, 2, 3, 4

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

P-13. {dÌd Ho$ {H$g Xoe ¤mam 1948–1989 Ho$

_‹` aßJ-^oX H$m EH$ Am{YH$m[aH$ Zr{V H$s

Vah nmbZ {H$`m J`m?

(A) X{jU A\´$sH$m

(B) MrZ

(C) A_arH$m

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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P-14. National Voters’ Day is

celebrated every year on

(A) 14th September

(B) 25th January

(C) 5th June

(D) More than one of the above

(E) None of the above

P-15. What is incorrect about United

Nations Security Council?

(A) It is a 15-member Council

in which 5 are permanent

and 10 are elected by the

General Assembly for

2 years.

(B) Each permanent member

has veto power.

(C) IMF and World Bank are

its funding agencies.

(D) More than one of the above

(E) None of the above

P-16. Which of the following acts as a

counterweight to the electoral

malpractices?

(A) Misuse of Government

machinery by ruling party

(B) Excessive use of money to

intimidate voters

(C) Popular support enjoyed

by a party/coalition

(D) More than one of the above

(E) None of the above

P-17. Mandal Commission in its

Report in 1980 recommended

_____ reservation in govern-

ment jobs to socially and

educationally backward

classes.

(A) 27%

(B) 22%

(C) 15%

(D) More than one of the above

(E) None of the above

P-18. Which Fundamental Right is

called ‘the heart and soul’ of

our Constitution?

(A) Right to Equality

(B) Right to Freedom of

Religion

(C) Cultural and Educational

Rights

(D) More than one of the above

(E) None of the above

P-19. Which Right is specific to

minorities?

(A) Right to Freedom of

Religion

(B) Right to Freedom

(C) Right to Constitutional

Remedies

(D) More than one of the above

(E) None of the above
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P-14. "amÔ¥>r` dmoQ>a {Xdg' H$~ _Zm`m OmVm h°?

(A) 14 {gVß~a

(B) 25 OZdar

(C) 5 OyZ

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

P-15. gß`w∫$ amÔ¥> gwajm n[afX≤ Ho$ ~mao _| H$m°Z-gm

H$WZ AgÀ` h°?

(A) Bg n[afX≤ _| 15 gXÒ` Xoe h¢, {OZ_|

go 5 ÒWmB© h¢ Edß 10 H$m MwZmd

gm_m›` g^m ¤mam Xmo df© H$s Ad{Y

Ho$ {bE hmoVm h°ü&

(B) ‡À`oH$ ÒWmB© gXÒ` Ho$ nmg drQ>mo e{∫$

h°ü&

(C) IMF Edß {dÌd ~¢H$ BgH$s {Z{YH$aU

EOßo{g`m± h¢ü&

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

P-16. MwZmdr H$XmMmam| na {ZÂZ{b{IV _| go H$m°Z-

gm H$WZ ‡{V^m[aV h°?

(A) gŒmmÍ$ãT> Xb ¤mam gaH$mar _erZar H$m

XwÈn`moJ

(B) dmoQ>amoß H$mo Y_H$mZo _| AÀ`{YH$ YZ

H$m ‡`moJ

(C) Xb/JR>~ßYZ ¤mam bmoH$ g_W©Z H$m

{dÌdmg

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

P-17. _ßS>b Am`moJ Zo 1980 H$s AnZr [anmoQ>© _|

gaH$mar Zm°H$[a`m| _| gm_m{OH$ Edß e°j{UH$

Vm°a na {nN>ãS>o dJm] H$mo {H$VZo ‡{VeV

AmajU H$s gßÒVw{V H$s Wr?

(A) 27%

(B) 22%

(C) 15%

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

P-18. H$m°Z-gm _m°{bH$ A{YH$ma gß{dYmZ H$m "ˆX`

Edß AmÀ_m' H$hbmVm h°?

(A) g_mZVm H$m A{YH$ma

(B) Ym{_©H$ ÒdVßÃVm H$m A{YH$ma

(C) gmßÒH•${VH$ Edß e°j{UH$ A{YH$ma

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

P-19. H$m°Z-gm A{YH$ma AÎngßª`H$m| Ho$ ‡{V

{deof h°?

(A) Ym{_©H$ ÒdVßÃVm H$m A{YH$ma

(B) ÒdVßÃVm H$m A{YH$ma

(C) gßd°Ym{ZH$ CnMmam| H$m A{YH$ma

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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P-20. Which is not correct about the

Constituent Assembly?

(A) It had more than 300

members.

(B) Its first meeting was held

in July 1946.

(C) It adopted many details

and procedures from the

Act of 1935.

(D) More than one of the above

(E) None of the above

P-21. Which of the following is not an

element of the Belgium model?

(A) Brussels has one govern-

ment in which both the

French- and Dutch-

speaking communities will

have equal representation.

(B) The State Government is

not subordinate to the

Central Government.

(C) Apart from the two

Governments, the third

kind of government is made

‘community government’.

(D) More than one of the above

(E) None of the above

P-22. In which year was an Act

passed to recognize Sinhala as

the only official language in

Sri Lanka?

(A) 1957

(B) 1956

(C) 1960

(D) More than one of the above

(E) None of the above

P-23. Which of the following is

incorrect about power

sharing?

(A) Power is shared among

different organs of the

government

(B) Power can be shared

among the governments at

different levels

(C) Every society needs some

form of power sharing even

if it is small or does not

have social divisions

(D) More than one of the above

(E) None of the above

P-24. Which of the following is

included in the Concurrent

List?

(A) Forest

(B) Agriculture

(C) Police

(D) More than one of the above

(E) None of the above

P-25. Which of the following

countries has the least

participation of women in

public life?

(A) Sweden

(B) Norway

(C) China

(D) More than one of the above

(E) None of the above
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P-20. gß{dYmZ-g^m Ho$ ~mao _| ä`m ghr Zht h°?

(A) Bg_ßo 300 go A{YH$ gXÒ` Wo

(B) OwbmB© 1946 _| BgH$s ‡W_ g^m h˛B©

(C) BgZo 1935 Ho$ A{Y{Z`_ go ~h˛V go

{ddaU Edß {d{Y`mßo H$m A{^J´hU

{H$`m

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

P-21. {ZÂZ{b{IV _| go H$m°Z-gm ~opÎO`_ _m∞S>b

H$m VŒd Zhrß h°?

(A) ~´goÎg H$s EH$ gaH$ma h° {Og_| \´|$M

Am°a S>M ^mfr XmoZm| g_wXm`m| H$m g_mZ

‡{V{Z{YÀd hmoJm

(B) am¡` gaH$ma H|$– gaH$ma Ho$ AYrZ

Zht h°

(C) Xmo gaH$mam| Ho$ A{V[a∫$, Vrgao ‡H$ma

H$s gaH$ma H$mo "gm_wXm{`H$ gaH$ma'

~Zm`m OmVm h°

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

P-22. qghbr H$mo EH$_mÃ Am{YH$m[aH$ ^mfm Ho$ Í$n

_| _m›`Vm XoZo Ho$ {bE {H$g df© lrbßH$m _|

EH$ A{Y{Z`_ nm[aV {H$`m J`m Wm>?

(A) 1957

(B) 1956

(C) 1960

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

P-23. nmda eò [a®J Ho$ ~mao _| {ZÂZ{b{IV _| go

H$m°Z-gm JbV h°?

(A) gŒmm gaH$ma Ho$ {d{^fi AßJm| Ho$ ~rM

gmPm H$s OmVr h°

(B) gŒmm {d{^fi ÒVam| na gaH$mam| Ho$ ~rM

gmPm H$s Om gH$Vr h°

(C) ‡À`oH$ g_mO H$mo {H$gr Z {H$gr Í$n

_| e{∫$-~±Q>dmao H$s AmdÌ`H$Vm hmoVr

h°, ^bo hr dh N>moQ>m hmo `m gm_m{OH$

{d^mOZ Z hmoü

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

P-24. {ZÂZ{b{IV _oß go H$m°Z-gm g_dVu gyMr _oß

em{_b h°?

(A) OßJb

(B) H•${f

(C) nw{bg

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

P-25. {ZÂZ{b{IV _| go {H$g Xoe _| gmd©O{ZH$

OrdZ _| _{hbmAm| H$s ^mJrXmar g~go H$_

h°?

(A) ÒdrS>Z

(B) Zm∞d}

(C) MrZ

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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P-26. What does the Equal

Remuneration Act, 1976

provide?

(A) Equal representation in

politics

(B) Equal wages for all

genders

(C) Jobs recruitment for all

(D) More than one of the above

(E) None of the above

P-27. Mahatma Gandhi used to say

that _____ can never be

separated from politics.

(A) society

(B) religion

(C) economy

(D) More than one of the above

(E) None of the above

P-28. Which of the following is true

about democracy?

(A) Democracy often frustrates

the needs and ignores the

demands of people

(B) Democracy is corruption-

less

(C) Democracy is irregular

(D) More than one of the above

(E) None of the above

P-29. Which of the following roles is

not played by political parties?

(A) They make laws for the

country

(B) One party supports to

another for the formation

of government

(C) They can have the same

views and opinions on the

all issues

(D) More than one of the above

(E) None of the above

P-30. To become a State party, a

party has to secure at least

____ of the total votes in an

election to the Legislative

Assembly of a State.

(A) 6%

(B) 8%

(C) 10%

(D) More than one of the above

(E) None of the above

P-31. Which of the following

countries comes under the

‘coming together’ federation?

(A) Belgium

(B) Switzerland

(C) Spain

(D) More than one of the above

(E) None of the above

P-32. What is called when power is

taken away from Central and

State Governments and given

to local government?

(A) Decentralization

(B) Centralization

(C) Departmentalization

(D) More than one of the above

(E) None of the above
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P-26. g_mZ nm[al{_H$ A{Y{Z`_, 1976 ä`m

‡XmZ H$aVm h°?

(A) amOZr{V _| g_mZ ‡{V{Z{YÀd

(B) g^r qbJm| Ho$ {bE g_mZ doVZ

(C) g^r Ho$ {bE Zm°H$[a`m| H$s ^Vu

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

P-27. _hmÀ_m Jm±Yr H$hm H$aVo Wo {H$ ____ H$mo

amOZr{V go H$^r AbJ Zht {H$`m Om

gH$Vmü&

(A) g_mO

(B) Y_©

(C) AW©

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

P-28. bmoH$VßÃ Ho$ ~mao _| {ZÂZ{b{IV _| go

H$m°Z-gm ghr h°?

(A) bmoH$VßÃ Aäga OÍ$aVm| H$mo {d\$b

H$aVm h° Am°a bmoJm| H$s _m±Jm| H$mo

AZXoIm H$aVm h°

(B) bmoH$VßÃ ^´Ô>mMma a{hV h°

(C) bmoH$VßÃ A{Z`{_V h°

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

P-29. {ZÂZ{b{IV _| go H$m°Z-gr ^y{_H$m

amOZr{VH$ Xbm| ¤mam Zht {Z^m`r OmVr h°?

(A) do Xoe Ho$ {bE H$mZyZ ~ZmVo h¢

(B) EH$ nmQ>u Xygar H$mo gaH$ma ~ZmZo _|

gh`moJ H$aVs h°

(C) CZHo$ {dMma Am°a _V g_mZ hmo gH$Vo

h¢ g^r _w‘m| naü

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

P-30. EH$ am¡` nmQ>u ~ZZo Ho$ {bE, EH$ nmQ>u H$mo

am¡` H$s {dYmZ g^m Ho$ MwZmd _| Hw$b dmoQ>m|

H$m H$_-go-H$_ ____ gwa{jV H$aZm hmoJmü&

(A) 6%

(B) 8%

(C) 10%

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

P-31. {ZÂZ{b{IV _| go H$m°Z-gm Xoe "EH$-gmW

AmZo dmbo' gßK Ho$ AßVJ©V AmVm h°?

(A) ~opÎO`_

(B) pÒdQ≤>µOab¢S>

(C) ÒnoZ

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

P-32. O~ H|$– Am°a am¡` gaH$mam| go e{∫$ boH$a

ÒWmZr` gaH$ma H$mo Xo Xr OmVr h°, Vmo Bgo

ä`m H$hm OmVm h°?

(A) {dH|$–rH$aU

(B) H|$–rH$aU

(C) {d^mJrH$aU

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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P-33. When did the Black Power

Movement emerge?

(A) 1975

(B) 1966

(C) 1989

(D) More than one of the above

(E) None of the above

P-34. Which Article is related with

the Indian Election Commis-

sion in the Indian Constitu-

tion?

(A) Article 324

(B) Article 148

(C) Article 342

(D) More than one of the above

(E) None of the above

P-35. Article 300 of the Indian

Constitution is related with

(A) trials and proceedings

(B) government contracts

(C) Attorney Generals

(D) More than one of the above

(E) None of the above

P-36. How many times the President

of India can be eligible for

election for presidentship?

(A) One time

(B) Two times

(C) Three times

(D) More than one of the above

(E) None of the above

P-37. How much time was taken in

framing the Constitution of

India?

(A) 5 years 10 months 12 days

(B) 3 years 9 months 18 days

(C) 2 years 11 months 18 days

(D) More than one of the above

(E) None of the above

P-38. Who among the following is

the first woman Speaker in the

Lok Sabha?

(A) Pratibha Patil

(B) Urmila Singh

(C) Meira Kumar

(D) More than one of the above

(E) None of the above

P-39. When was the National

Human Rights Commission

established?

(A) 1990

(B) 1991

(C) 1992

(D) More than one of the above

(E) None of the above

P-40. Article 360 of the Constitution

of India empowers the

President of India to proclaim

(A) Financial Emergency

(B) President’s rule

(C) stopping Fundamental

Rights

(D) More than one of the above

(E) None of the above
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P-33. H$mbr e{∫$ („b°H$ nmda) AmßXmobZ H$~

C^am?

(A) 1975

(B) 1966

(C) 1989

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

P-34. ^maV Ho$ gß{dYmZ H$m H$m°Z-gm AZw¿N>oX

^maVr` {Zdm©MZ Am`moJ go gß~ß{YV h°?

(A) AZw¿N>oX 324

(B) AZw¿N>oX 148

(C) AZw¿N>oX 342

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

P-35. ^maVr` gß{dYmZ H$m AZw¿N>oX 300 {H$ggo

gß~ß{YV h°?

(A) _wH$X_| VWm H$m`©dmhr

(B) gaH$mar R>oHo

(C) _hm›`m`dmXr

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

P-36. ^maV H$m amÔ¥>n{V {H$VZr ~ma nwZ: MwZmd Ho$

{bE nmÃ hmoVm h°?

(A) EH$ ~ma

(B) Xmo ~ma

(C) VrZ ~ma

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

P-37. ^maVr` gß{dYmZ H$mo ~ZmZo _| {H$VZm g_`

bJm Wm?

(A) 5 df© 10 _mh 12 {XZ

(B) 3 df© 9 _mh 18 {XZ

(C) 2 df© 11 _mh 18 {XZ

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

P-38. bmoH$ g^m _| ‡W_ _{hbm g^mn{V H$m°Z

Wr?

(A) ‡{V^m nm{Q>b

(B) C{_©bm qgh

(C) _ram Hw$_ma

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

P-39. {H$g df© amÔ¥>r` _mZdm{YH$ma Am`moJ H$s

ÒWmnZm H$s JB© Wr?

(A) 1990

(B) 1991

(C) 1992

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

P-40. ^maVr` gß{dYmZ Ho$ AZw¿N>oX 360 _|

amÔ¥>n{V H$mo {H$gH$s KmofUm H$aZo H$m

A{YH$ma h°?

(A) {dŒmr` AmnmVH$mbrZ H$s

(B) amÔ¥>n{V emgZ H$s

(C) _m°{bH$ A{YH$mam| H$mo amoH$Zo H$s

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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17/MV/M–2023–10 nwpÒVH$m ˚m•ßIbm
CÂ_rXdma H$m AZwH´$_mßH$

‡ÌZ-nwpÒVH$m

gm_m›` A‹``Z Edß gm_m{OH$ {dkmZ
nÃ—3

‡ÌZm| Ho$ CŒma XoZo go nhbo ZrMo {bIo AZwXoem| H$mo ‹`mZ go nãT> b|ü&

_hŒdnyU© AZwXoe

1. Bg ‡ÌZ-nwpÒVH$m _| gm_m›` A‹``Z Am°a gm_m{OH$ {dkmZ Ho$ ‡ÌZ h¢; gm_m{OH$ {dkmZ _| B{Vhmg, ^yJmob, AW©emÛ Edß
amOZr{V-emÛ {df` em{_b hß°ü& gm_m{OH$ {dkmZ Ho$ C∫$ Mma {df`m| _| go {H$›ht Xmo {df`m| H$mo MwZ|, {OZ_| go EH$ {df` B{Vhmg
`m ^yJmob A{Zdm`©  h°ü&

2. ^mJ–I, gm_m›` A‹``Z _| ‡ÌZ gßª`m 1 go 40, ^mJ–II, B{Vhmg _| ‡ÌZ gßª`m H–1 go H–40, ^mJ–II/^mJ–III, ^yJmob _|
‡ÌZ gßª`m G–1 go G–40, ^mJ–III, AW©emÛ _| ‡ÌZ gßª`m E–1 go E–40 Edß ^mJ–III, amOZr{V-emÛ _| ‡ÌZ gßª`m P–1

go P–40 hß°ü&  ‡ÌZ  Am°a  CZHo$  CŒma  AßJ´oOr  Edß  {h›Xr  _|  _w{–V  h¢ü&
3. g^r ‡ÌZm|  Ho$  AßH$  g_mZ  hß°ü&
4. gm_m›` A‹``Z Ho$ ‡ÌZm| Ho$ CŒma X| Edß gm_m{OH$ {dkmZ Ho$ Mma {df`m| _| go {H$›ht Xmo {df`m| Ho$ CŒma X|, {OZ_| go EH$ {df`

B{Vhmg `m ^yJmob A{Zdm`©  h°ü&
5. narjm AmaÂ^ hmoVo hr Amn AnZr ‡ÌZ-nwpÒVH$m H$s Om±M H$a XoI b| {H$ BgHo$ D$na Xm`t Amoa ‡ÌZ-nwpÒVH$m H$s ˚m•ßIbm

_w{–V h°ü& H•$n`m Om±M b| {H$ nwpÒVH$m _| aµ\$ H$m`© hoVw Xmo n•>m| (n•> gß0 62 Am°a 63) g{hV nyao 64 _w{–V n•> h¢ Am°a H$moB©
‡ÌZ `m n•> {~Zm N>nm h˛Am `m \$Q>m h˛Am `m Xmo~mam Am`m h˛Am Vmo Zht h°ü& nwpÒVH$m _| {H$gr ‡H$ma H$s Ãw{Q> nmZo na VÀH$mb
BgHo$  ~Xbo Bgr ˚m•ßIbm  H$s Xygar ghr nwpÒVH$m  bo  b|ü&

6. Bg  n•>  Ho$  D$na {ZYm©[aV ÒWmZ _| AnZm AZwH´$_mßH$ AdÌ`  {bI|ü& ‡ÌZ-nwpÒVH$m na Am°a Hw$N>  Z  {bI|ü&
7. ‡ÌZm| Ho$ CŒma XoZo Ho$ {bE AmnH$mo drjH$ ¤mam AbJ go CŒma nÃH$ {X`m Om`oJmü& AnZo CŒma nÃH$ Ho$ n•>-1 na {ZYm©[aV ÒWmZ _|

AnZm Zm_, AZwH´$_mßH$, ‡ÌZ-nwpÒVH$m ˚m•ßIbm VWm A›` {ddaU AdÌ` {bI| A›`Wm AmnH$m CŒma nÃH$ Om±Mm Zht
Om`oJmü&

8. CŒma nÃH$ Ho$ n•>-2 na {ZYm©[aV ÒWmZ _| AnZo AZwH´$_mßH$ VWm ‡ÌZ-nwpÒVH$m H$s ˚m•ßIbm A, B, C `m D O°gm Bg
‡ÌZ-nwpÒVH$m Ho$ AmdaU n•> Ho$ D$na Xm`t Amoa Aß{H$V h°, go gÂ~p›YV d•Œm H$mo H$mbr/Zrbr Ò`mhr Ho$ ~m∞b-nm∞B›Q> noZ go AdÌ`
Hy$Q>~’ H$a|ü& CŒma nÃH$ na ‡ÌZ-nwpÒVH$m ˚m•ßIbm Aß{H$V Zht H$aZo AWdm JbV ˚m•ßIbm Aß{H$V H$aZo na CŒma nÃH$ H$m ghr
_yÎ`mßH$Z Zht hmoJmü&

9. ‡À`oH$ ‡ÌZ Ho$ nm±M CŒmaçç(A), (B), (C), (D) Am°a (E) H´$_ na {X`o J`o h¢ü& CZ_| go Amn g~go ghr Ho$db EH$ CŒma H$mo MwZ| Am°a
AnZo CŒma nÃH$ na Aß{H$V H$a|ü& ‡À`oH$ ‡ÌZ Ho$ {bE Ho$db EH$ hr CŒma MwZZm h°ü& AmnH$m Hw$b ‡m·mßH$ AmnHo$ ¤mam CŒma nÃH$ _|
Aß{H$V ghr CŒmam| na {Z^©a hmoJmü&

10. CŒma nÃH$ _| ‡À`oH$ ‡ÌZ gßª`m Ho$ gm_Zo nm±M d•Œm Bg ‡H$ma ~Zo h˛E h¢çç Am°a ü& ‡ÌZm| Ho$ CŒma XoZo Ho$ {bE
AmnH$mo AnZr ng›X Ho$ Ho$db EH$ d•Œm H$mo H$mbr/Zrbr Ò`mhr Ho$ ~m∞b-nm∞B›Q> noZ go {M{ïV H$aZm h°ü& ‡À`oH$ ‡ÌZ Ho$ {bE Ho$db EH$
CŒma H$mo MwZ| Am°a Cgo AnZo CŒma nÃH$ _| {M{ïV H$a|ü& Amn CŒma nÃH$ _| `{X EH$ ‡ÌZ Ho$ {bE EH$ go A{YH$ d•Œm _| {ZemZ bJmVo h¢,
Vmo AmnH$m CŒma JbV _mZm Om`oJmü& CŒma nÃH$ _| CŒma H$mo {M{ïV H$aZo Ho$ {bE Ho$db H$mbr/Zrbr Ò`mhr Ho$ ~m∞b-nm∞B›Q> noZ
H$m  hr  ‡`moJ H$a|ü&  {H$gr  ^r ‡H$ma  H$m  H$mQ>-Hy$Q> AWdm n[adV©Z  _m›` Zht h°ü&

11. CÂ_rXdma ¤mam ‡À`oH$ ‡ÌZ Ho$ JbV CŒma Ho$ {bE ‡ÌZ hoVw {Z`V {H$`o J`o AßH$m| H$m EH$-Mm°WmB© AßH$ X�S> Ho$ Í$n _| H$mQ>m Om`oJmü&
12. ‡ÌZ-nwpÒVH$m go H$moB© nfim \$mãS>Zm `m AbJ H$aZm _Zm h°ü& ‡ÌZ-nwpÒVH$m Am°a CŒma nÃH$ H$mo narjm Ad{Y _| narjm ^dZ go ~mha

H$Xm{n Z bo Om`|ü& narjm Ho$ g_mnZ na CŒma nÃH$ drjH$ H$mo AdÌ` gm¢n X|ü& CgHo$ ~mX AmnH$mo AnZr ‡ÌZ-nwpÒVH$m AnZo gmW
bo OmZo H$s AZw_{V  h°ü&

13. D$na Ho$ AZwXoem| _| go {H$gr EH$ H$m ^r nmbZ Zht H$aZo na Amn na Am`moJ Ho$ {ddoH$mZwgma H$ma©dmB© H$s Om gH$Vr h° AWdm AmnH$mo
X�S>  {X`m  Om gH$Vm h°ü&

14. A‰`Wu CŒma nÃH$ H$mo AnZr CnpÒW{V _| Self Adhesive LDPE Bag _| nyar Vah go n°H$/grb H$admZo Ho$ CnamßV hr narjmH$j
H$mo  N>moãS>|ü&

Note : English version of the instructions is printed on the First Page of this Booklet.
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